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GENERAL SCIENCE

CLASS: VII
BLUE PRINTS
L.A. S.A. VS.A. M.C.Q. Total
AS1 2(8) 1(4) 1(2) 10(1) 32
AS2 - 1(4) 1) 2(1) 8
AS3 1(8) - 1(2) 2(1) 12
AS4 - 2(4) - 4(1) 12
ASS5 1(8) - - - 8
AS6 - 1(4) 1(2) 2(1) 8
TOTAL 32 20 8 20 80
CLASS : VIII
LA. S.A. VS.A. M.C.Q. Total
AS1 2x4=8 1x2=2 I1x1=1 10x % =5 16
AS2 - 1x2=2 1x1=1 2x =1 4
AS3 1x4=4 - I1x1=1 2x %=1 6
AS4 - 2x2=4 - 4x =2 6
ASS5 1x4=4 - - Nil 4
AS6 - 1x2=2 I1x1=1 2x %=1 4
TOTAL 16 10 4 10 40




PHYSICAL SCIENCE

CLASS - IX
BLUE PRINT
Marks Eassy type | Short [Veryshort| M.C.Q. No. of
Alloted Answer | Answer Questions
AS1 16 2(8) 1(2) 1(1) 10(5) 14
(40%) P+C P C 5P+5C
AS2 4 - 1(2) 1(1) 2(1) 4
(10%) C P 2P
AS3 6 - 2(4) 1(1) 2(1) 5
(15%) P+C C 2P
AS4 6 1(4) - - 4(2) 5
(15%) PorC 4C
ASS 4 1(4) - - - 1
(10%) diagram
PorC
AS6 4 - 1(2) 1(1) 2(1) 4
(10%) PorC P 1P+1C 4
40 4(16) 5(10) 4(4) 20(10) 33
JSS:
1. GBS0 BB (DHOD TRIreEre errdore Eﬁ)ﬁ&)&é}ﬁ OI5PE0 GoKdD.
2. Y, B o IEP (@PEIHESE Srdnen Seronosaidio.
3. ®) FTFOTOLH TTWD) SIPKOMT Lrdnen SEranoSIB.
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S888:7 Jddode: 2:30 Q.
AL R HoH Srtnes: 80
@&%w AS-1 AS-1I | AS-IIT | AS-1IV | AS-V| AS-VI | Total
©&e Sogg [ 1,5, 10,11 2,6 3,12 7,8 13 4,9
14, 16,18 | 17,24 | 15,33 28 19, 27
20-23, 25, 30-32
26
Beronodd 32 08 12 12 08 08 80
BV ew) SN
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3 %Jo&o“awgo 95588 0s® 626&265 828 @Uc;@oé)éaéa B0 (R0t Y SHRPACDS EJecHS
HTBsm, HOETODY T (AS-3)
4 ) 686303 DS S BB eBeran Hod A Hoere PFSo 53y HEHQ2K08?

oo 0% D I:H? (AS-1)
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SUMMATIVE ASSESSMENT- III

MODEL QUESTION PAPER

GENERAL SCIENCE

Class: 7 Marks : 80
Time: 2hrs. 30 min,

AS-1 AS-TI | AS-1ITI AS-IV | AS-V | AS-VI | Total
S.No.of | 1,5,10,11] 2,6 3,12 7,8 13 4,9
Questions | 14, 16, 18| 17,24 | 15, 33 28 19, 27
20-23, 25, 30-32
26

Marks 32 08 12 12 08 08 &80

Marks

Secured

Grade

PART- A
SECTION -1

(4 x 2 =8 Marks)

Answer the following questions in two or three sentences
Each question carries TWO Marks.

Name two chemicals used to disinfect the water?
What happens if stomata leaves of a gree plant are coated with 0il?

Name the chemical substance that used to fonfirm the presence

W=

If you see water running off from a public tap what would you do about it?

SECTION - 11

(4 x 5 =20 Marks)

Answer the following questions in three or four sentences.
Each question carries FIVE Marks.
5. What are the differences between convex and concave mirrors?

6. What is cyclone and its effects on environment? What type of questions would you ask

persons in the meteorological station about it?
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7.

10.

11.

Rain Fall in m.m.

Observe the graph showing rainfall (in mm) of a place from August to December. Write
down the observations from it?

X

80
70
60
50
40
30
20
10

0

August September October ~ November December Y
Months

You want to collect information about forest area and forest products in our State. For
this prepare a model information table.

Forests are lungs of our mother earth. They are so many problems due to deforestation.
to over come this what suggestions you would like to implement. Suggest any four of
yours.

SECTION - III

(8 x 4 =32 Marks)

Answer the following questions. Each question carries 8 Marks

You learnt that if all parts of a moving body move in the direction of motion is said
translatory motion. In addition to this what are, the other types of motions?
Explain them with suitable examples.

(or)
Do all flowers have same parts? Give examples of some flowers and explain your
answer?

Explain you understanding about various stages in making of wool.

(or)
List our the food components which are present in the mid-day-meal served at your
school. Is it balanced diet? Support your answer?
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12.

13.

Prepare a list of natural indicators and chemical indicators. Write the uses of those
indicators in a tabular form.

(or)
Read the following passage. Correct it into a tabular form.

Soil is make up of distinct horizontal layers called Horizons. They are devided
into O, A, E, B, C and R horizons. O - horizon made of mostly of humus, Plant
roots can grow in A - horizon. Water drips through E - horizon. B - horizon is also
called subsoil. C - horizon consists of slightly broken up bedrock where as
R - horizon have unweathued Rock.

Draw the diagram of a Anemometer and mention its uses?
(or)

Label the parts of Datura flower drawn here

Explain in what way part-2 helps to flower.
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PART-B
SECTION - 1V

(20 x 1= 20 Marks)

Put correct answer in the brackets given below

14. Which food material is rich in fat? ( )
A) Potato B) Milk C) Ghee D) Biscuit
15. Identify the correct statement. ( )

A) If one bulb is fused off all the remaining bulbs glow in series circuit

B) If one bulb will not glow the remaining bulbs also will not glow in series circuit
C) If one bulb will fuse off the remaining bulbs will not glow in parallel circuit.

D) All the bulbs will glow in parallel circuit

16. Movement of minutes hand in a clock. ( )
A) Translatory B) Oscillatory C) Rotatory D) Periodic
17. Incorrect statement (of the following questions) ( )

A) Second in the unit of Time

B) All the objects have similor movements

C) Speed of a car is measured in kilometers / hour

D) Total movement of vehicles is not with same speed.

18. Insectivorous plant ( )
A)Rosa Sinesis  B) Nepenthes C) Teak D) Aloe Vera

19. Chemical name which is used in the preparation of Cake ( )
A) Salt B) Washing Soda  C) Cooking Soda D) Potassium

20. Lungs of the earth ( )
A) Forests B) Seas C) Deserts D) Towns

21. Energy giving food substances. ()
A) Carbohydrates B) Proteins C) Vitamins D) Water

22. Acid present is curd ( )
A) Lactic Acid B) Acetic Acid  C) Citric Acid D) Venigar

23. Normal body temperature of a man ( )
A)38°C B)37°C C)36°C D) 40°C
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Choose the correct statement. ( )
A) Substances will reduce on heating

B) Substances will not dissolves on heating

C) Substances will contract on heating

D) Substances will retract on heating

The dampness of airis called..................... ()
A) Pressure B) Humidity C) Evaporation D) Diffusion
Kind of cloth that protects is from cold ( )
A) Cotton B) Silk C) Wool D) Polyester
Which is a true statement. ( )

A) Fibre food material causes constipation

B) Fibre food material is a factor of constipation
C) Fibre food material eliminates constipation
D) Fibre food material is present in rice.

Which kind of soil retains the water molecules? ( )
A) Clay B) Sandy C) Loam Soil D) Gravel

Metal that rusts due to the exposure of humidity ( )
A) Iron B) Gold C) Steel D) Aluminum

Statement which is not true ( )

A) The humidity of Vijayawada is more that Hyderabad
B) The humidity of Nellore in more than Ananthapur

C) The humidity is more at Costal areas during summer
D) The humidity is less in Kakinada than Kadapa

Which line denotes positive pole in a cell ( )
A) Long B) Width C) Short D) Arrow

Increase in the number of images can be done by ( )
A) Reducing the number of mirrors B) Reducing the angle of mirrors

C) Not to increase the number of mirrors D) Increase the angle of mirrors

The amount of heat liberated through the filament in an electrical appliance depends on -

-------- ()
A) Type of wire B) Thickness of wire

C) Nature of wire D) Color of wire
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SUMMATIVE ASSESSMENT - 111

MODEL QUESTION PAPER
BIOLOGICAL SCIENCE
Class: 8 Marks : 40
Time: 2hrs. 45 min.
AS. I | 111 v \% VI Total
Number of Questions
Allotted Marks 16 4 6 6 4 4
Marks obtained
Grade
Marks: 30
Instructions:
(i) The question paper comprises of FOUR Sections.i.e., I, IL, IIT and IV.
(ii) All Questions are compulsory.
(iii) There is no overall choice\. However there is internal choice to the
questions under section - III.
(iv) In the time duration of 2 hrs. 45 minutes, 15 minutes of time is exclusively
allotted to read and understand to question paper.
SECTION -1
(4 x 1 =4 Marks)
Note:
(1) Answer all the questions
(i1) Each question carries ONE Marks.
(i)  Answer each question in 1 or 2 sentences.
1. How can you differentiate prokaryotic cell with that of eucaryotic cell? (AS1)
2. What would happen if all the organisms stop the process of Reproduction? (AS2)
Samhitha found a tadpole in a pond. She collected it carefully and put it in an aquarium
supposing it a fish. After some days what did the find and why? (AS3)
4. You know that early marriage is a social taboo. Prepare two slogans to prevent this?
(AS6)
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SECTION - 11
(5 x 2 =10 Marks)

Note:
(i) Answer all the questions
(i) Each question carries TWO Marks.
(iii)  Answer each question in 4 to 5 sentences.
5. What happens when two animals having similar habits share one ecosystem? (AS-1)
What questions would you pose to know more details about cloning? (AS-2)
7. List out producers, consumer and decomposers that you observed in your
agricultural field or school garden? (AS-4)
Clear and transparent water is always suitable for drinking comment? (AS-6)
9. Study the table and answer the questions? (AS-4)

Name of the Disease Causative Mode of Preventive
Micro Organism | Transmission measures

Tuberculosis Bacteria Air Vaccination

Chickenpox Virus Air Vaccination

Dengue Virus Mosquitoes Use mosquito nets

and repellents

Cholera Bacteria Contaminated personal hygene
water and food | and good sanitary
habits

Malaria Parasite Mosquitoes Use mosquto nets

(1) Which diseases can be prevented by using mosquito nets?

(11) Name the diseases transmitted by Air?
SECTION - 111
(4 X 4 =16 Marks)
Note:
(i) Answer all the questions
(ii) Each question carries FOUR Marks.
(iii)  There is internal choice for each question. Only one option is to be attempted,
(iv) Answer each question in 8 to 10 sentences.

10.

Which organisms are interlinked between living and non living organism? Why do you
think so? (AS-1)
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11.

12.

13.

(or)

What do under stand by food web? Describe it with your own words with the help of a

diagrammatic representation? (AS-1)
What is natural manure? How could you prepare it? Give two examples? Why is it called
eco-friendly? (AS-1)
(or)
Road side plants cannot grow properly - Find your own reasons and explain to support
your arguments? (AS-1)
Write the procedure of the experiment conducted by you in your laboratory to
observe the lactobacillus bacteria in curd? (AS-3)
(or)

We prepared slides of onion and cheek cell in our lab to observe cell structure and the
nucleus. Answer the questions based by the experiment.

(1) While we place the onion peel on the slide, it should not be folded before having
covered it with cover slip. Why? What precautions will you take for it?
(1) Why should we stain onion peel and cheek cells with safraninormethylene blue?

(ii1))  Why do we remove excess stain before observing under microscope.

(iv) Why do we wash our mouth cleanly, before and after scrapping the inner surface

of cheek to collect cheek cells?

Draw the diagram of female reproductive system and label the parts? Write the functions
of fallopian tube. (AS-5)

(or)

Observe the diagram and answer the questions

(1) Name the parts A, B, Cand D

(1) Which part helps in conduction of water? (AS-5)
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PART - B
SECTION - 1V

(20 x %2 =10 Marks)

Note:

(i) Answer all the questions
(ii) Each question carries 2 Mark.
(iii)  Answer should be written on question paper itself

Choose the right answer.

14. Cell was discovered by ( )
A)Robert Brown B)Robert Hooke  C)Leeuwenhoek D) Kircher

15. Pathogenic micro-organisms like bacteria present in host cells are killed by
medicines called C )
A) Pain killer B) Antibodies C) Antibiotics D) Vaccines

16. The disease caused by a protozoan and spread by an insect is ( )
A) Dengue B) Chikungunya C) Malaria D) Swine flue

17. Who synthesited Aureomycin ( )
A)Y. Subba Rao B) Flemming C) Joans Salk D) Jenner

18. Which an oviparous among the following. C )
A) Cow B) Pig C) hen D) elephant

19. Reproduction by budding takes place in ( )
A) Hydra B) Amoeba C) Paramecium D) Bacteria

20. In human beings, after fertilisation, the structure which gets embedded in the wall of
uterus is ( )
A) Ovum B) Sperm C) Foetus D) Zygote

21. AIDS can spread from an infected person to another person through ( )
A) Sharing food B) Blood transfusion
C) Sharing comb D) Mosquito bite

22. The sytem of irrigation where water is supplied drop by drop near the roots of plant is
called. ( )
A) Pulley system B) drip system
C) Sprinklers system D) lever system
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23.

24.

25.

26.

27.

28.

29.

Which following tool would a farmer use to remove weeds from the field

A) harrow B) plough C) Axe D) Cultivator
Choose correct answer from the following matching

1. Testes ( ) (1) Estrogen

2. Endocrine gland ( ) (i1)  Pituitary

3. Menarche ( ) (iii)  Sperm

4. Female hormone ( ) (iv)  release of ova for first time

A) 1-iii, 2-i, 3-1v, 4-1
C) 1-ii, 2-1, 3-iii, 4-iv

B) 1-i, 2-ii, 3-iv, 4-iii
D) 1-i, 2-iv, 3-iii, 4-ii
(1) X-Animal does not have external ears.

(i1) Y- Animal does not have external ears

using above information which one oviparous and which one is viviparous according to

the information given above
A) 1-oviparous, ii-viviparous B) i-viviparous, ii-oviparous

C) Both i and ii viviparous D) Both i and ii oviparous

Which is endemic to New zealand
A) Kangaroo B) Kiwi C) Peacock D) White tiger

(1) Seema has added one tea spoon curd to hot milk.
(i1)) Ramana has added one tea spoon curd to lukewarm milk.
(i11)) Meena has added one tea spoon curd to cold milk

Whose milk is supposed to turn into curd

A) Seemas B) Ramana’s

C) Meena’s D) Non of the above

A student collected some diseased plants. In which plant he may be observe Tikka
disease.

A) Maize B) Wheat

C) Ground nut D) Coconut

Which of the following is a producer?
A) Fox B) Fungus C) Hen D) Grass
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30.

31.

32.

33.

Observe the diagram and name the process
A) Fertilization B) Fission C)Budding D) Fragmentation

‘ TheRed data book’ containing the details of endangered and threatened species of floure

and fauna is published by
A) World wild life federation
C) State wild life federation

B) Indian wild life federation
D) American wild life federation

The forests that grow in back water low depth areas of sea shore are
A) Mangroves B) Forests

C) Tropical rain forests D) Deciduous forests

Depletion of the ozone layer is caused by
A)CFC B) Oxygen C) Nitrogen D) KFC
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SUMMATIVE ASSESSMENT- 111

MODEL QUESTION PAPER

BIOLOGICAL SCIENCE
Class: IX Marks : 40

Time: 2hrs. 30 min.

Time allotted to read the question paper : 15 min.
PART- A

SECTION -1
(4 x 1 =4 Marks)

(1) Answer all the questions

(11) Each question carries ONE Marks.

1. How do monocots differ from dicots?
2. What will happen to a marine fish if kept in fresh water aquarium? Give at least one
reason.
3. In what way tagging is useful to study animal behaviour?
4. If all the plants in a pond die, what consequences will be faced by the animals?
SECTION - 11

(5 x 2 =10 Marks)

(1) Answer all the questions
(i1) Each question carries TWO Marks.

5. What special adaptations can be seen in the following organisms?
a) Mangrove trees b) camel c¢) Dolphin d) Plankton
6. What question will you ask a doctor about commonly faced eye diseases when you get a

chance to call on him?

7. Write the procedure to prepare a semi-permeable membrane in your school lab, that you
have already done?

8. Prepare a table of your own or fill the following table describing land pollution and its
effects.
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9.

10.

11.

12.

13.

SI. No. Pollutant ill effects

What methods would you suggest if you wish to conserve electricity?

SECTION - III
(4 X 4 =16 Marks)

(1) Answer all the questions
(11) Each question carries FOUR Marks.

Rajayya’s Agriculture field faces a scaree rain and less water availability. Which types of
crop has to be grown by him. Prepare a report that suits him with suggestive methods.
(or)

Prepare a list of incidences where diffusion occurs?

Write general characters that you observer in a) PISCES b) AMPHIBIANS c) AVES
(or)

You commonly observe a number of frogs during rainy season in a near by pond. But you

wonder to see their number less in summer. Why ? How the number increase again after

rainy season.

How does the rubber flap help you to conduct an experiment to test audibility?

(or)
Suma cuts a potato as shown in the figure below. Explain what experiment i
she going to conduct and its procedure.

Draw a neat labelled diagram of the skin. Explain the structure and function of the gland
present in it.

a) Name the diagram b) Label its parts
¢) What are the components of the cell wall?

d) In what way two neighbour cells are attached with each other.
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Part-B
SECTION -1V

(20 x %2 =10 Marks)

(i) Answer all the questions

(ii) Each question carries /2 Mark.

14.

15.

16.

17.

18.

19.

20.

This blood group can donate blood to every one.
A) A B) AB C) O D) B

Match the following
a) Nucleus ( ) 1. Virchow

b) Cell ( ) 2. Hook

c) New Cells ( ) 3. Robert Brown
A)a-1,b-2,c-3 B) a-2, b-3, c-1 C)a-3,b-2,c-1 D) a-3,b-1,c-2

Classification of organisms starts with domain and ends with
A) family B) genus C) organism D) species

You came to know that CO,, Methane, Co are the prime factors of ozone layer depletion.

Apart from this another chief component responsible for it is
A) O, B) Chloriflouro Carbon C)H,S D) Radiation

What would happen if we don’t follow crop rotation method?
A) Land fertility increases B) yield will be more
C) Soil fertility decreases D) No change occurs

Observe the following sentences

a) Kangaroo rat can live without drinking water throughout its life.
b) Sand grouse, carries water in its crop.

A) a, b both are true B) a true, b false

C) a false, b true D) a, b both are false

An example for genetically modified food

1. Maize 2. Bt. Cotton 3. Bt Brinjal 4. Bt Chilly
A)only listrue B)1,2,3 aretrue ()3, 4 are true D) 2, 3 are true
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21.

22.

23.

24.

25.

26.

27.

28.

29.

1 2 3 4

Azatobacter Mico Rhicce Pencillium Diatom

Identify the bacteria in the above table

A)2 B)2 )3 D)4

What would happen if farmers don’t test soil of their agriculture field ?

A) Unaware of the soil nature B) Can’t cultivate

C) Yielding will be less D) Can’t supplement the soil

The scientific study of animal behaviour is

A) Ethology B) Ecology C) Histology D) Animal Biology
Math the following

a) Conditioning ( ) 1. Duck and Ducklings

b) Imitation ( ) 2. Dogand Saliva

3. Imprinting ( ) 3. Chimpanzee and fruits
A)a-2,b-3,c-1 B) a-3,b-1,c-2 C)a-1,b-2,c-3 D) a-1,b-3,c-2

If a man tastes an extreme salty food, then
A) He learns eating salty food

B) He likes eating salty food

C) He dislikes eating salty food

D) He can’t recognise the lesser salty food

This Vitamin is helpful for eye
A) Vitamin-A B) Vitamin-B C) Vitamin-D D) Vitamin-C

The Rheo leaf'is used in lab for the observation
A) Stomata  B) Plasma membrane C) Epiderm D) Vascular bundle

This tissue present around the edges in a lateral manner and giving rise to growth in the

girth of stem
A) Apical meristem B) Lateral meristem
C) Ground tissue D) Cambium

One smell flowers, because of

A) He eats more and plays more
B) He eats less and plays less
C) He eats more and play s less
D) He eats less and plays more
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30.

31.

32.

33.

We smell flowers, because of
A) Diffusion B) Osmosis C) Filtration

These colonies make a reef
A) Hydra B) Jelly fish C) Corals

Rhodopsin is present in
A) Rods B) Cones C) Pupil

Read the following statements carefully

a) Snakes hiss only to scare us

b) Tasmania Devil evolves a bad smell

A) a, b bots are true B) a-true, b-false

C) a-false, b-true D) a, b both are false
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5. 4 288 0o’ o8 Errerda 36 Hhedy rdo HERDER Ho8, @8 KooK $5& Jod?
(AS))

6. RISIEIASE D800 @y BHoE® LrEnB KHA0DS &l Vape) $0S° ey BBl
2020500 Jerod (HHen GEoIER, ¢8rod) T°ehod. (AS))

7. BN B0 S0 B BSeere A Jor Fohre)? (AS,)
8. Lol HESFeHDH RIS Sodsren QP00 HoLENE HY 038538‘23 Dge0 AE?
(AS))

9. &nzéo“smc(;o@‘s ©ENHED T BB Hotrow. @ééwcg@f BT @E0)en ETR HOoEPAT?
D Aer QHBFEH? (AS,)
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SECTION - III

& (80b BHod JSrgraren Tohol. (B8 (BB 4 Srednen 4x4 = 16 oo,
10, Sl K Aohdreds 8Dy, BT a8 AoHHrIE 2.8 eursrEndhos. (AS))
&)

0|83, ﬁ°§3§ Feo(B3%e HB0D TER), &8 (Hresren (Slo“acgé’ééﬁ) oPOHod.

11 5850 Joerd) DBBoDS &S Tgs Hod PGS $8& Ko TRFeS" o8 TRIY S8
%809 Beod (AS,)
&)
©ENHO DESTENES 900D O HEBoDS dSrerdo TraHod.
12. ) ééoﬁ@?ﬂgo, @“58@@5@2@3 QED0H0E.
) &8 &R Sro 340 &o/3 LB TR BBorggso 5 . wowd ;LedKg0 Qod? (AS)
&)
Q) BHEEL OITPIN? BIHED (HFPIB0 VAL ©oTE?
8) 27°C 8BS BOSErEoE Sy,
13. Both B ©oBE08 &S MFBHETe @Y erdyeHd égmoé’s Sgzegdo 25°C ol
BENSre Ho8, B IHVHwe8 Do“acgé’é@ TEBH? © Kacgé’é@ S Hero Ackod. (ASS)
&)
_csorsagho“aéé, S Heoswo Achod.
& ?soogwl)o“aézé 0D S 2§J°§oe3's O DBGBRADIPRY FBN0E Be)ok.

PART - B
Srdpen ¢ 10
& 8086 B8 JOGDS Jdrgraren hoowok.
1. D98 ool ORPES Jdore woﬁw?{g@é‘s@% S8 (H8cH C )
A) (55550 B) £o&odaeo C) e&)¥s0 D) 50985580
2. 25 08 I IV 2GS C )
A) ?50‘566260 B) @o%é‘foogc:%o 0 w%eﬁ:ﬁéo D) e558o(5oso(gBo
3. DB ©9ea08TPBO .oovvreiiinnnn, (resmes?) «C )
A) 18 B) 16 03 D) 2
4. & (808 7AS* HBEPenHE® Hok Seseen «C )
A) dogzoen B) [©8¢roen C) Soogléroen D) 2055Q)050
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5. 800 AS® KBTI ()

A B
1. QB&acdo (a) K
PARSNG) (b) S
3. SPeracho (c) Na

A)) 1-a,2-b,3-c  B) 1l-c, 2-b, 3-a C) 1-b, 2-c, 3-a D) 1-a, 2-c, 3-b
6. 1) V=utat

1
2)S=Ut+ Eat2

3) V2-u?=2as
) AN ‘é:ﬁaéséoeaoé’s Hoa 0D B0 SEoBSearen ( )
A1, 2 B) 2, 3 01,3 D)1, 2, 3

7. (B3%50°8, Srre SRS ( )
A) @Szﬁéﬁﬁo B) 5%s$0 C) &deso D) a0

8. 2erd8 Sl (Hdreao ( )
A) S50 B)&S C) 5 D) &S

9. 1) cOERIrBo
2) PSErEo
3) erond Sego
2 o (Hedo ad S8 (BHost S0DAIJY D b ?6‘303326 DY), & SoNoLaBS
(S0 HB ddredo ( )
A)1l B) 2 C)3 D)1, 2, 3

10, a8 3003 5 gty @00 [BEPA0D 3 e Erdo EHD0VIDE AP @BNDA.( )
A) 5] B) 15] 03] D) 8J

11. &3 808 IS DO &80 FPHHLD Ho0HODS (HF) ( )
A) $503508° Hod JRIB &Beao Hoeoowr?
B) 350&® Bvlev)) Ho& SRIB &Beeo Hotnorr?
C) 35058 Hoi JRIB SBeeo Hoenowr?
D) d¥o ?3@@3‘3 Ho& SRDB EBeao Hoenowr?

12. 33563 (85550788 Botd SHed 2.8 D& H08 SHOBHH e Bt ShHed O dchos Zoe
JSeborr Hord C )
A) S& B) ro&@ExEs om0 0 ?&?@%—% D) K&<8
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13.

14.

15.

16.

17.

LU WLy F

2 (DBersio A8 H02050DIB
A) Segerd w5 1S Do B) S50 BoES 15508 Dadhso
C) 500608 QoS K08 Ao D) 205Q)05m

(B508® B5rshisso Ko Sdsden

A)P,Q B) Q,R 0)S,Q D)S, T
060578 B55°S S8
Mg Clr Y
X 50;2 Na,SO,

P 0888° X, Yé;:éoé‘s HoTd

A) Na*, Mg*™ B) Na**, MgCl, C)Mg,ClL, S0, D) SO4, MgCl
E K)@éé’s X @;26068 Hord
A)Na® B) Na™ C)Na' D) Na

8 2.8 2H JwEd, ro wiEE® BhdHanm. Sod 8 el B vk,
O @S HHIoAIH. 1. 3D nE)% ?Ogaé 85280, HoIHBRTR0 Hotnod.

18.

19.

20.

2. e @g@ ©5°80, IDBe0 EOA Hotron. DK @éego ( )
A) 1- ée‘%o, 2- @66550 B) 1- @966550, 2- ée‘égo
C) 1, 2 %8 D) 1, 2 edzd

1) &3y + A — SerdaH oo
2) SHB + 8IS - Derdadh MEo
3) a8 + D% — Jerdod o

2 S8oBE® KOG B HBoEos.

A)1,2 B) 2, 3 01,3 D)1, 2, 3
550 Dardeadd aeedd 08T
A) Exrg B) ©&r&S C) c5089c%H0 D) 8&cSo

&R 2ST0HTRED téééo:é_) HATD HBES0
A) reeBS B) Sofigarantiso  C) EWS D) 2500
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SUMMATIVE ASSESSMENT - 111
MODEL QUESTION PAPER

CLASS : IX
PHYSICAL SCIENCES

Part A&B

Time: 2hrs. 30 min Marks : 40
SECTION-1

Answer the following Questions Bx1=5M)
1. Classify the following as scalar and vector quantities, given by your teacher is
displacement, velocity, speed, time (AS-1)
2. Raviand Ramu discussing on gravitational force. In their discussion Ravi said gravity on
earth 9.8m/Sec? and ask his firend Ramu what is the gravity at the centre of earth? (AS-2)
Which method is suitable to separate the constituents of ink. (AS-3)
4. Where do we observe the application of Pascal's Law in daily life (AS-6)

SECTION-1I
Answer the following Questions Gx2=10M)
5. What is the average speed of an athlete, if he covers 36 m. in 4seconds. (AS-1)
6.  When a bus approaches bustand, a student observed the changes in velocity of the bus. Write
the questions which had been arisen in student mind on accelevation (AS-2)
7. What will yu do the given iron rail t float on surface of water (AS-2)
8. Dicribe the consequences faced. If the symbols are not given to the elements by scientists.
(AS-6)
9.  The particals of a solid are packed closely, is the particals in liquids also similar? How can
you explain (AS-3)

SECTION - 11T
Answer all the question in the following @4x4=16 M)
10. State Newton's laws of motion and give one example for any law (AS-1)

(or)

Write a note on density and reletive density and write their units.

63



11. Atom model from John Dalton to Somer field. List out the updated points of atomic model
starting from John Dalton to Neils Bohr. (AS-4)
(or)
Write the information which you gathered from internet or another sources on Atomocity
of molecules.
12. a) Define wave length and frequency
b) What is the frequency of sound of wave length 5 m. and speed 340 m/s (AS-1)
(or)
a) What is evaportion and which factors are influence on evaportion?
b) Convert 27°C into degree Kenvin.
13. Draw the diagram of a freely falling body. What conservation law does it follow on its path?
(AS-5)
(or)
Draw a diagram showing to seperte two or more miscible liquids when the difference in
their boiling poihts is less than 25°C.
Part-B
Class: IX Marks : 10
1. The process of changing solid Idoine to gaseous state directly is ( )
A) Melting B) Boiling C) Sublimation D) Freezing
2. The process used to separate butter from curd ( )
A) Distillation B) Fractional distillation
C) Evaporation D) Centrifuge
3. Molecular weight of water (in grams) ( )
A) 18 B) 16 03 D)2
4.  Sub atomic particals of an Atom ( )
A) Electrons B) Protons C) Neutrons D) All the above
5. Correct answer in the following ( )
A B
1. Sodium (@) K
2. Sulphur (b) S
3. Potassium (c) Na

A)) 1-a, 2-b, 3-c B) 1-c, 2-b, 3-a C) 1-b, 2-c, 3-a D) 1-a, 2-c, 3-b
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10.

11.

12.

13.

1) V =u+tat

1
2)S=Ut+ Eaﬁ

3) V2-u?=2as

Which of the above indicate the equations of uniform accelerated motion

A1, 2 B) 2, 3

The product of mass and velocity is

A) Momenteem B) Impulse

S.I. unit of Force
A) Newton B) Dyne
1. Archmedice Principles

2. Pascal's Principle
3. Boyles Principles

Which of the above principle related to apparent loss of weight of the immersed stone is

01,3

C)Erg

equal to the weight of water displaced by the stone

A) 1 B)2

Work done to carrying 3 m distance by applying a force of 5 mis

A)SJ B) 15J

0)3

C)3J

D)1, 2 3

C) Acceleration D) Force

D) Joule

D)1,2,3

D) 8J

Which of the following questions is related to acceleration ?

A) Is the body to avelin with uniform volacity and acclertion

B) Is the body traveling with non-uniform velocity has and acceleration

C) Is the body traveling with uniform speed and accelertion

D) Is the body in the rest position has an acceleration

Two bodies of unequal masses are dropped from the top of building. Whcih of the following

is equal for both the bodies at any instance

A) Speed
C) Potential energy

B) Force of gravity
D) Kinetic energy

Fﬁ_f;e—%fm_ﬂm-mﬂL&_)F

The above experiment related to
A) Newton's I law
C) Newton's Il law

B) Newton's Il law
D) All above
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14.

15.

16.

17.

18.

19.

20.

B)Q,R 0)S,Q D)S, T
Cation Anion Formula
Mg Cl Y
X SO; i Na2so4

Obseve above table and which 1s suitable in the Position of X and 'Y" (

A) Na*, Mg*™ B) Na*", MgCl, C) Mg Cl, SO, D) SO4, MgCl
Observe aboe table and which is suitable in the position of 'X' (

A)Na® B) Na™ C)Na* D) Na
Raju observed an Iron piece, and glass of milk. He stated that
1) Iron piece has fixed shape and volume
2) Milk has fixed shape and volume
Which of the following is correct. (

A) 1-True, 2-False  B) 1- False, 2-True C) Both 1, 2 True

1) Salt + water forms homogeneous solution
2) Sugar + Kerosene froms Heterogeneous solution
3)Sand + water forms Heterogeneous solution
From the above, the correct statements are
A 1,2 B) 2,3 01,3
The Isotope used in cancer treatment
A) Coball B) lodine C) Uranium

The device working by multiple reflection of sound
A) Megaphone B) Musical instrument
C) Stethoscope D) All the above
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D) Both 1, 2 False

(
D)1,2,3

(
D) Sodium
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SUMMATIVE ASSESSMENT

General Science Paper - 1
(Physical Sciences)
Part-A& B
(Englisn Version)

Class IX Time: 2.30 hrs.

Max. Marks : 40

Note: 1) Write the answer of ‘Part A’ on seperrate answer booklet
2) Answer the ‘Part-B’ on the same, and is attach to the ‘Part-A’ Answer booklet.
3) Additional 15 minutes are given to read the question paper, before start the examination.
PART-A
SECTION -1
Note: 1) Answer all the following questions.
2) Each question carries 1 Mark. 4x1=4
1. The initial velocity ofabodyis ‘v’ at that time t = 0 for every one minute equal changes occurs in
velocity, knowing the definetion of univorm acceleration. Write the equation to find the final velocity
‘V’?
2. To know about ‘Mechanical energy’ of an object, Mahesh asked some questions to his teacher.
Guess the questions and write, what Mohan asked his teacher.
3. “The nature of gases are heighly compressible as compared to liquids and solids” Explain the state-
ment using an example?
4. In the experiment “ to understand change in mass before and after a chemical reaction”’, How can you
say that a chemical reaction has taken place in this experiment, give reason.
SECTION-11
Note: 1) Answer all the following questions.
2) Each question carries 2 Marks. 5x2=10
5. “A car posses more inertia than a bicycle” Explain.
6. Draw the table in recording the readings in the experiment in finding the relative density of different
objects.
7. Why atomic nucleus contains protons and nuetrons why not ............... and nuetrons ? Explain.
8. The molecular formula of Hydrogen is writters as ‘2H’ and ‘H,” which one is correct? Justify your
answer?
9. If'some drops of petrol falls on wet road during rainy season. It shows rain bow colours. How can you

support your answer that it belogns to chromatogrophy



SECTION - 111

Note: 1) Answer all the following questions.

10.

11.

12.

13.

2) Each question carries 4 Marks. 4x4=16
a) “The force of gravitation is acts on all bodies in the universe explain.

b) A body free falling from a height of 20 meters. Calculate the final velacity and time tken to it, .........
the group. (g=10m/Sec?)

(or)
a) Explain the density of sound in relation with the wave length, a characteristic feature of sound.

b) A sound wave travels at a speed of 440nvs. If its wavelengths is 4 cm. Calculate the frequency of
the wave?

The table given below, is filled with incorrect information. Study the table and draw the correct table,
and explain the reason.

Homogenous Mixtures | Heterogenous Mixtures Elements Compounds
Soda Water Sugar Solution Iron Water
Mud Water Milk Calcium Oxide Mercury
(or)

Based on the information given below. Answer the following questions.

Element Atomic No. | No. of Protons | No. of Neutrons | No. of Electrons

X 11 11 12 11
Y 13 13 14 13
Z 15 15 16 15

a) Write the distribution of electrons in different shells.
b) Find the valency of the given elements.
c) Write the atomic number and mass number of the given elements in standard notation.

How canyou opposite the conributions of Aristotle and Galeleo in farming the leaves of motion by
Newton?

(or)
Thompson and Rutherford learned more from nature in giving their atomic models. Justify your answer
in supporting the given statement.

Draw the diagram and label the part in measuing the weight of the water displaced by the immersed
done and slow far it support the Archemede’s Principle.

(or)
Draw the diagram showing the arrangement of particles in solids, liquids and gases. Write the reasons
for rate of diffusion is more in gasses.



SUMMATIVE ASSESSMENT

General Science Paper - 1
(Physical Sciences)

Part-A& B
(Englisn Version)
Class IX RollNo:
Competency AS -1 AS-1I AS - TII AS - VI AS- VI
& VIII
Question No. 1[3[5]6]10]14]124130| 2] 8[20(31]4 [6(9]21]29]11]22(23|32(33]|13| 12
to|to
19128
Marsks Secured
Total Marks
PART-B

Note: Choose the correct answer 20x% =10
14. Which one of the given below is the suitable example for the change velocity in both direction and

speed. Changes simultaneously ( )

A) Hand movement in a clock B) Adrum is moving on a slope

C) Movement of a pendeculum in a wall clock D) Aball thrown into the air
15. Newtons first law of Motion can be shown as ( )

Ap

A) F"e’:A_t B) F =0 C) F, =ma D) F,, =—F,

16. About stability the statements are given below. ( )

(1) The location of the centre of gravity given stebility to an object.
(2) The line through the centre of gravity fell out side the base nodes the object unstable

A) 1istrue, 2 is false B) Bothare true
C) Both are false D) Its false and 2 is true
17. Match the following. ( )
a) Universal gravitation constant ( ) (1) 6 x10* Kgs
b) Acceleration due to gravity ofthe earth ( ) (2) 6.4 x10° Km
¢) Mass of the Earth ( ) (3) 9.8 m/Sec?
d) Radius of the Earth ( ) (3) 9.8 m/Sec?
A) A-1,B-2,C-3,D-4 B) A-4, B-3,C-1, D-2

C) A-4, B-3, C-2, D-1 D)A-1, B-3, C-4, D-2



18.

19.

20.

21.

22.

23.

24.

25.

26.

The term ‘Density’ is defined as mass per unit volume is written as ( )
A)Mass . volume B) Volume / mass C) mass + volume D) mass/ Volume

Arun dropped a 10 kg ball from height of 10m. calculate the speed ofthe ball just before it reaches the

ground C )
A) 10m/Sec B) 14m/ Sec C) 16m/Sec D) 18m/ Sec

Rajani imagines that (1) she applys force on a book to life is 4.9 N. 2) She guess that the earth also
applys the same force on it. ( )
A) 1 and 2 are true B) 1 and 2 are false

C) 1 is true and 2 is false D) lis false and 2 is true

To find the relative density ofthe liquids, we need th eweight of fixed volume of liquids as milk, ground
nut oil, Kerosene and with the weigh equal volume of liquid ..............ccoeeveenenn. ()
A) Milk B) Ground nut oil C) Kerosene D) Water

Which one of'the following statement is incorrect ()

A) The loudness of sound is measured indecibles

B) Asselection of sound arriving at th elistener in more than O.I. Sec. after direct sound is called ‘echo’
C) Sound frequency between 20Hz - 200 Hz is callsed audible tim. if.

D) Soun dof frequency less than 20 Hz is knows on infracsonic sounds.

The nature of sound waves are belongs to ()
1) The particles of the medium vibrate along the direction of wave.

2) Th eparticles of the medium vibrate perpendicular to the direction of wave.

3) The waves changes the density of the medium.

4) The waves changes in the shape of the medium

A)1land3 B)2 and 4 C)land4 D)2and 3
The word ‘element’ was first used by ? ( )
A) Lavoiser B) Henning Brad

C) Robert Boyle D) Humpry Davy

‘X’ 1s a liquid substance, which is having the properties of ( )
1) Shape 2) Volume 3) Compressibility 4) Diffusion

A)1and?2 B)2and 3 C)3and 4 D)2 and 4

Find the add property belongs to ‘suspensions’ ( )

A) It is a Heterogenous mixture

B) The particles can not be seen with naked eye.

C) The Solute particles settle down when undisturbed it.
D) The components can be separated by physical process



27.

28.

29.

30.

31.

32.

33.

A solution contains 20 grams of sugar in 100 grm. of water find the mass percentage of the solution.

A) 10%

Match the following
a) Antoine Levoisiev
b) Joseph. L. Proust

¢) John Dalton

d) John Berzelins
A)A-4,B-1,C-2,D-3
C)A-1,B-2,C-3,D-4

B) 15%

A~ AN AN AN

C) 17%

2) Atomic theory
3) Symbols of elements

N N N N

D) 20%

1) Law of constant proportions

4) Law of conservation of mass

B)A-4,B-1,C-3,D-2
D)A-4,B-3,C-2,D-1

(

)

The atomic mass of Carbon is 124 and oxygen is 164. Find the molecular mass of Carbondioxide?

A)20U

B)40 U

Kalium: Potassium : :

A) Aurum

David’s expectations are as (1) Neils Bohr Explains the nature of Hydrogen to (2) At the time of Neils
Bohr, Neutron was not discovered

A) lis true
C) 1 false

2 false
2 true

C)44 U

: Sodium.

B) Ferrum

C) Natrium

B) Bothare true
D) both are false

Find the characteristic feature, which is not belong to neutron
A) It is ‘no’ change particle

C) It had mass but not equal to proton

B) It is in the nucleus

D) It was discovered by James chad wick

D)28 U

D) Wolfram

Arrange the sentences in correct sequential order, basing on criss-cross method,
A) Write the symbols of atoms or group of atoms side by side
B) Inter change the valency and write the number to the lower right ofthe constituen
C) Write the valency of each atom or group of atoms on the top of the symbols.

D) While writing the formula ignore if any constituents receives the number 1.

AN W —
Z

O N
N

— N WA A
N—

AW N =
g

¢ )
C )
¢ )
¢ )
¢ )



MATHEMATICS
BLUE PRINTS

Class: 6
S.No. | Academic Standard VSA SA Essay | MCQ |Marks
2 marks| 4 marks| 8 marks| 1 mark

1. Problem solving 1(2) 2(4) 2(8) 6(1) 32

2. Reasoning & Proof 1(2) 1(4) 1(8) 2(1) 16

3. Communication 1(2) 1(4) - 2(1) 08

4. Connection 1(2) 1(1) - 6(1) 12

5. Rep & Vis - - 1(8) 4(1) 12

4(2) 5(4) 4(8) 20(1) 33

Total 08 20 32 20 80

Class: 7
S.No. | Academic Standard VSA SA Essay | MCQ | Marks
2 marks| 4 marky 8 marks| 1 mark

l. Problem solving 1(2) 2(4) 2(8) 6(1) 32

2. Reasoning & Proof 1(2) 1(4) 1(8) 2(1) 16

3. Communication 1(2) 1(4) - 2(1) 08

4. Connection 1(2) I(1) - 6(1) 12

5. Rep & Vis - - 1(8) 4(1) 12

4(2) 5(4) 4(8) 20(1) 33

Total 08 20 32 20 80
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Class: 8

S.No. | Academic Standard VSA SA Essay MCQ Marks
1. | Problem solving 1(2) 1(4) 2(8) 10(1) 32
2. | Reasoning & Proof 2(2) 1(4) - 8(1) 16
3. | Communication 2(1) 1(4) - 1(2) 08
4. | Connection - 1(4) 1(8) - 12
5. | Repregentation - 1(4) 1(8) - 12
Total 4(2) 5(4) 4(8) 20(1) 33(80)
08 20 32 20
Class: 9
PAPER-I
Academic Standard / Essay SA VSA MCQ Total
Types of Questions
1
PS 2(4) 2(2) 1(1) 6 5 11(16)
1
R&P 1(4) 1(2) - 4 5 6 (8)
1
Comm - 1(2) 1(1) 2 5 4(4)
1
Conn - 1(2) 2(1) 4 5 7(6)
1
Rep & Vs 1(4) - - 4 5 5(6)
1
Total 4(4) 5@2) 4(1) 20 ; 33 (40)
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Class: 9

PAPER-II
Academic Standard / Essay SA VSA MCQ Total
Types of Questions
Problem Solving 1 2 2 6 16
Reasoning & Proof - 1 1 4 8
Communication - 1 - 4 4
Connections 2 1 - 4 6
Rep & Vis 1 - 1 2 6
4 5 4 20 40
Total No. of Ques. 13 Questions
20 MCR
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SUMMATIVE ASSESSMENT-3

MODEL QUESTION PAPER
MATHEMATICS

PART -A&B

Class : VI E.M. Max.Marks : 80
StUAEnt NAINE : ....eveenreereneeeeeneeeeeneceeeeeseessessssesssosens RollNo: ............... Time : 2hr 30 min + 15

PART - A Max. Marks : 60

Academic Problem solving Reasoning & | Communi-| Coppection | Repre- Total
Standard Proof cation sentation

Q.No. 156 (10 |11 2 |7 |12 3 8 4 9 13 13 Qus.
Marks
Instructions : 1. Read all the questions.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should written visibly and neatly.

6. There is an internal choice in Section-III.

SECTION -1 4 x 2 = 8 marks

Note :1. Answer all the questions.
2. Each question carries 2 marks.

1 2
implify 2=+ 1=
1.  Simplify 3 715

2. Write any two pairs of primes in which the sum of two numbers in a pair is exactly
divisible by 5.

3. “Suresh has 3 books more than twice the books of Radha”. Write this relation using the
variable x.

4. A wire has 22 cm length. If you want to bend and make a rectangle with length 6 cm, then
find its breadth.
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10.

SECTION - 11 5 x 4 = 20 marks

Note :1. Answer all the questions.
2. Each question carries 4 marks.

Find the least whole number which when divided by 12, 14 and 18 respectively leaves
remainder 5 in each time.

The ratio of length and breadth of a rectangular plot is 3 : 2 and its area is 1200 sq.m then
find its perimeter.

The temperature in Simla on a day is -4°C and -6°C at Kufri. Which place is cooler? Why?

Write the names of the following geometrical figures.

If 25 millilitres of milk is required to make one cup of tea, then find how many cups of

N N

vV N

tea we can make out of 25 litres of milk?

SECTION - III 4 x 8 = 32 marks
Note : 1. Answer all the questions.
2. Choose any one from each question.

3. Each question carries 8 marks.

Read the following table.

Item Unit cost (in )
Note book 16-50

Pen 10-99

Pencil 5-25

Compass box | 45-00

Find the total cost of 4 notebooks, 2 pens, 5 pencils and one compass box using the table.
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I1.

12.

13.

(or)
Find the value of each one of the following using properties.
1) 368 x 12 + 18 x 368 ii) 319 + 69 + 81
iii) 1991 x 1005 iv) 196 + 57 + 4

A garden is in the shape of a square and its side is 3.5 m. Find the cost of fencing it around
4 times, if the cost of the wire is .15 per meter.

(or)

The length and breadth of a rectangular shaped room are 10m and 6m. Find the total cost
of carpet to lay down on entire floor, if the cost of 1 sq.m carpet is I 300.

11111
1) Does 56573 e equal ? If not, which is bigger and which is smaller? How ?
1) Arrange 8.6, 8.59, 8.09, 8.8 in Ascending (Increasing) order.

(or)

Does the numbers 3, 5, 15 and 9 are in proportion ? Arrange them in proportion in as
many orders as possible. Check them each case.

Construct an angle £/40B = 60° using ruler and compass. Draw its bisector and write
steps of construction.

(or)
The monthly expenditure of Imran is given in the following table. Represent the data as
a Bargraph.
Item House Rent | Food | Education | Electricity | Transport | Others
Expenditure (in ) 3000 3400 800 400 600 1200

%kokok
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SUMMATIVE ASSESSMENT-3
MODEL QUESTION PAPER

Time : 30 min PART - B Max. Marks : 20

. Rea- | Com-
Academic | p oo solving soning | muni- Connection Reprfesenta- Total
Standard & Proof| cation tion

Q.No. 14(17(23]25]126|31|16(21 30|32 |15|19(20]22]24|29|18(27]28|33]20Q

Marks

1. Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given
brackets.

Marks can not be awarded for overwriting answers.

4. Each question carry 1 mark.
20 x 1 = 20 marks

14. The place value of ‘5’ in 35128 is [ ]
A) 500 B) 5 C) 5000 D) 50

15. The least unit of measuring liquid. [ ]
A) 1 kilo litre B) 1 litre C) 1 centi litre D) 1 millilitre

16. One of the following is divisible by both 2 and 5 [ ]
A) 120 B) 125 C) 52 D) 555

17. The product of two numbers is 216 and their LCM 1is 36 the HCF [ ]
A) 18 B) 12 C)6 D) 21

18. In the adjacent figure ‘o’ is called zv_) [ ]

o A

A) Centre B) Vertex C) Arm D) Origin

19. The estimated measure of angle at the corner of a room [ ]
A) 90° B) 0° C) 180° D) 60°

20. The integer to represent height of a mountain [ ]
A) zero B) positive C) negative D) none

21. Like fractions among the following. [ ]
NEEE B 123 olll 522

777 999 75 4 10 4°5
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

5
Niha has taken 7 part of fruits from a basket then the part of fruits left in the basket.

1 2 3
A) 7 B) > @) 7 D) none [ ]
A pen costs T 7 then the cost of ‘n’ pens. [ ]
A)n+7 B)7 —n C) 7n D)g
Angle between two hands of a clock at 3:00 hrs. [ ]
A) 180° B) 60° C) 300° D) 90°
The side of a square is 4 cm then its area. [ ]
A) 8 sq.cm B) 16 sq.cm C) 16 cm D) 8 cm
The ratio of ¥ 5 and T 2.50 is [ ]
A)5:2 B)y2:1 C)2:5 D) 5 : 250
Which one of the following is a symmetric figure. [ ]
A) B) O) D)

u -

The instrument used to bisect a line segment. [ ]
A) scale B) compass C) divider D) both A and B
The shape of a marble [ ]
A) cylinder B) cone C) sphere D) cube
The line segment AB in the figure is called [ ]
A) radius B) arc A@B
C) diameter D) chord
Radha shared ¥ 45 to Hari and Mahesh in the ratio 2 : 3 then mahesh get [ ]
A)X 18 B) X 27 ORI D) X 45
“The cost of an apple is double the cost of Jamoon™. If the cost of Jamoon is ‘x’ then cost
of apple. [ ]
A) 2x B) x + 2 )2 —x D)g
The representation of 3—(—1) on the number line is [ ]
A)(iiiiiﬂnn? B)<iiiiim\..>
5-4-32-1012345 5-4-3-2-1012345
©) - AN S D)\imiiiii/
54321012345 54-32-1012345
skkek
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11.

12.

13.

(&)
808 8 Dended DBAHK éoas‘gécg@zéo SHXA0D ERPS0&.
i) 368 x 12 + 18 x 368 i) 319 + 60 + 81
iii) 1991 x 1005 iv) 196 + 57 + 4
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Sowerd 1 S T15 THPS Qo& PLY) ©HE08.

o)
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SUMMATIVE ASSESSMENT-3

MODEL QUESTION PAPER
MATHEMATICS

PART -A&B
Class : VII E.M. Max.Marks : 80
Student NAINE © .ou.ceeeeeereeneeeeeerencrneecseecersessenescssonns ROIINO: cecveurerneneenenneen Time : 2hr 30 min + 15

PART - A Max. Marks : 60
Academic Problem solving Reasoning & | Communi-| Copnection | Repre- Total

Standard Proof cation sentation

Q.No. 1{5(6 (10 |11 2 |7 |12 3 8 4 9 13 13 Qus.
Marks
Instructions : 1. Read all the questions.

2. Part-A answers should be written in separate answer book.

3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should written visibly and neatly.

6. There 1s an internal choice in Section-I11.

SECTION - 1

Note :1. Answer all the questions.

2
1. What should be added to 155 get 18 5

2. A boy has taken three sides 3cm, 4cm and 9 cm measures to construct a triangle. Is it

2. Each question carries 2 marks.

possible? If not, why?

5

3. What is a linear pair? Draw rough figure.

4.  The M.R.P. of a book is ¥ 225. The shopkeeper has given 10% discount on it. Find its

selling price.

80

4 x 2 = 8 marks




10.

SECTION - 11 5 x 4 = 20 marks

Note :1. Answer all the questions.
2. Each question carries 4 marks.

The ratio of angles of a triangle is 2 : 3 : 4. Find the angles and name the triangle.

Simplify 5x>— 4 — 3x>+ 6x + 8 + 5x — 13. Find the value of the expression when
x =2

ABCD is a parallelogram and AC is the diagonal. Prove that AABC= A ADC .
D C

Iy B

Read the following pie-chart about a family monthly expenditure and answer the question
given below.

1) On which item, family is spending more and less amount?

i1) If the monthly income of the family is ¥ 3000, find the amount spending on
houserent.

The length of the minute hand of a clock is 14 cm. Find the area covered by it in 1 hour
(Take m = 3.14).

SECTION - 111 4 x 8 = 32 marks

Note : 1. Answer all the questions.
2. Choose any one from each question.
3. Each question carries 8 marks.

The present age of Ravi's father is 3 times the age of Ravi. If the sum of their ages after
5 years is 58 years then find their present ages.

(or)

81



11.

12.

13.

A shopkeeper bought two computers for ¥ 20,000 each and sold first one at a profit of
20% and second one at a loss of 20%. Find his gain or loss percent on the whole.

Simplify the following using laws of exponents.

. Y (xY (x) o 4x2"—2x2m
) X0 * X g x” i) 8x 2" —4x2""
(or)

The length and breadth of a room are 8 m x 5m. A varandah of width 1.5 m is laid

uniformly around it. Find the area of the varandah.

Explain how the sum of angles /4+ /B+/C+ /D + Z/E =180°1in the given figure?
A

(or)

In how many ways you can express three positive integers so that they have arthimetic
mean 6, median 7 and have no mode. Explain.

Construct a right angled triangle ABC in which base BC =5 cm and hypotenuse AC = 6.2
cm. Write steps of construction.

(or)

Construct a double bar-graph using the following information about marks obtained by
5 students is maths and science.

Student Amir Basha Chandan Deepti | Abhishek

Maths 92 90 75 67 60

Science 85 80 80 75 60
skkok
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SUMMATIVE ASSESSMENT-3

MODEL QUESTION PAPER
Time : 30 min PART - B Max. Marks : 20
‘ Rea- | Com-
Academic Problem solving soning | muni- Connection Representa- | Total
Standard & Proof| cation tion

Q.No. 14(17(23]25]126|31|16(21 30|32 |15|19[20]22]24|29|18(27]28|33]20Q

Marks

14.

15.

16.

17.

18.

19.

20.

21.

1. Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given

brackets.

Marks are not awarded for overwriting answers.

4. Each question carry 1 mark.

20 x 1 = 20 marks

The sum of two integers is —16 and one of the is 12 then the other. ( )
A) 4 B) 4 C) 8 D) -8

The ages of 10 teachers in a school are 32, 41, 28, 54, 35, 26, 23, 33, 38, 40 then range
A) 30 years B) 32 years C) 40 years D) 31 years ( )
Least number of possible acute angles in a triangle. ( )
A)O B) 1 02 D)3

If 25% of a number is 40 then the number is ( )
A) 100 B) 140 C) 160 D) none

A pair of vertically opposite angles in the figure. 5:&@ ( )
A) (41,42) B) (42, 43) @) (Zl, 43) D) (44,41)

Candles are generally in the shape of 3D object. ( )
A) cone B) sphere C) cylinder D) cube

One of the following two quantities are in inverse proportion. C )
A) No. of books and their cost B) Distance travelled, petrol required

C) No. of men, time taken to finish a work D) No. of people, food grains required
Which of the following cannot be the angles triangle ( )
A) 30° 40° 110° B) 90°, 90°, 0° C) 120° 30° 30° D) 45° 45° 90°
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Which stastical measure is useful in ordering sweet (laddus) for a marriage function.

A) mean B) median C) mode
If a=2, b =1 then the value of a®— b? is
A)2 B) 5 O)1
The shadow of a cone, when seen under the lamp.
A) square B) rectangle C) circle
The area of the figure.
A) 49 sq.cm B) 28 sq.cm
C) 14 sq.cm D) 16 sq.cm

7cm

If 2n + 5 = 3 (3n — 10) then the value of n.

A)S B) 3

2
C)g

S.A.S. congruency is represented in the figure.

HEZ

In the figure /4ABC=/BCD=30° then the relation between the lines AB and CD can be

represents

C) cylinder

C)s5:1

C) a rectangle

C) 1.04

C) 124 x 10°

The net of the solid O
A) cube B) cuboid
The ratio of ¥ 5 and ¥ 0.50 1is
A)50:1 B) 10 : 1
A parallelogram in which the adjacent sides are equal.
A) a square B) a rhombus
What should be added to 2.06 to get 3.1 ?
A) 1.4 B) 1.24
The standard form of the number 124000000
A) 124 x 10° B) 1.24 x 10°¢
represented as A 0 B

C = D
A)AB1 CD B) AB x CD

84

C) AB||CD

D) none

D) 0

D) triangle

D)

W | o

D) sphere

D) 100 : 1

D) a kite

D) 5.16

D) 0.124 x 10°

D) AB = CD
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

a8 o s%gLéEﬁ:oeSs ?os@ (@Céagen) EDUDém B50erd SRSV @o&gé@é Qend.

A) ©0855%0 B) g0 C) ero¥so D) Db C )
a=2b=1omd a°— b* dend. ()
A) 2 B) 5 01 D) 0
B0 Jenddd Bods BognHT 3)603&5 (D&Dozrad esedo. ( )
A) S&BKo B) égzﬁe‘éaé@()o ) Hgo D) (&gbeo
@6§&é¢)o cﬁwé& S350, ( )
A) 49 $.20.5. B) 28 $.20.5.
C) 14 $.20.%. D) 16 $.20.8.
2n+5=3(3n - 10) ®owd n Jens. 7em ()
A) 5 B) 3 O) 2 D) 2

5 3
808 Heros® 0.85%.5H SICRSE N Yo QeDo3b. C )
A) B) &) D)
@ Sosro O foed Hyv wome? () O ()
A) JsHdo B) ég&fwéo C) m;o“ao D) &0
35 0% T 0.50 o Y3 ()
A) 50 : 1 B) 10 : 1 C)5:1 D) 100 :1
d8) gheren Jdrdorrre drods iSe‘é)é)?D&o A6? ()
A) $&BK%0o B) oroa 0) ég)zﬁé)é@’)o D) mdHéo
2.06 % dod BOVS 3.1 Sod? ( )
A) 1.4 B) 1.24 C) 1.04 D) 5.16
124000000 (ﬁ})é& (EPEPBRE Boedo. ( )
A) 124 x 10° B) 1.24 x 10°¢ C) 124 x 10° D) 0.124 x 10°
Lo“aégro“)éooé‘g /ABC=/BCD=30" @0 AB, CD Jere 3055 Ho0grR))  Ho20Ge)
S D0T0. A 30578 C )

C 30 D

A)AB1 CD B) AB x CD C) AB||CD D) AB = CD
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SUMMATIVE ASSESSMENT - MODEL PAPER

Sub : Mathematics Max Marks : 80
Class : VIII E.M. Time : 2 h 30 min + 15 min
NAME OF the SEUAECIL ....ceveeueeeerreeeeieerreeneceeereeneeseesesseeseesesssessessssssesssessssssssssssessssns Section .....ceeeeeeeeennnns
PART - A Max. Marks : 60
Academic | pyoplem Solving Reasonings and Communication | Connection | Representation
Standard Proof
Q.No. 2 5110 1|12 1 6 3 4 8 9 11 7 13
Marks

Instructions :

II.

1. Read all the questions.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should write visibly and neatly.

6. There is internal choice in Section-III.

Answer the following questions. Each question carries ‘Two’ marks. 4x2 = 8 marks
“There are ‘26’ non square numbers between 6 and 82.” It is True (or) False ? Give reasons.

8th class maths Text book is printed in 120 paper sheets. The thickness of each paper is 20mm.
Find the total thickness of the text book.

Express (5x* - 25xy) as product of factors.

5A6 is a number divisible by ‘2’ then write all possible values of A ?

Answer the following questions. Each question carries ‘4’ marks. 4x5 = 20 marks
Sol 1x-3_5
OV ox+3 4

If the diagonals of a Rhombus are equal then what type of quadrilatral will form ? Draw a rough

diagram and give reasons.

Draw the Histogram for following Data

I.Q of Student | 60-70 | 70-80 [ 80-90 | 90-100 | 100-110 | 110-120 | 120-130

No of Students 2 5 6 10 9 8 5

. P
Express () 529 in ; form (q # 0 and p, q are co-primes)
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1.

10.

11.

12.

If two rectangles with 8 cm length and 4 cm breadth are join together along with their length, find

the perimeter of the new shape.

Answer the following questions. Each question carries ‘8’ marks. 8x4 = 32 marks

The length of a rectangle shaped park exceeds its breadth by 17 meters. If the perimeter of the park

is 178 meters find the dimensions of the park.

(or)

A vessel is in the shape of a cuboid with 30 cm long and 25 cm wide. What should be its height
to hold 4.5 liters of water.

A surveyor had noted the measurements of a field in his field book in meters as shown below. Find
the area of that field
to ‘S’
200
25t0 T < 160
110 ——> 60 to ‘R’
25to L€—T— 70
30— —>40t0 Q

From P

(or)
Madhuri went to a Super Market. The prices changes as follows on a day. The price of Rice

reduced by 5%, Jam and Fruits reduced by 8% and oil and Dal increased by 10%. Help Madhuri
to find the changed price in the table given below :

Item Original Price Changed Price
Rice 30
Jam 100
Apples 280
o1l 120
Dal 80

A pre owned car showroom owner bought a second hand car for 1,50,000. He spent 20,000
on repairs and painting then sold it for  2,00,000. Find whether he gets profit or loss ? If so, what

percent ?
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(or)

175 men can dig a canal 3150 m long in 36 days. How many men are required to dig a canal
3900 m long in 24 days.

13. Construct a quadrelateral PQRS where PQ =3.5cm QR =4 cm, RS =5 cm, PS =4.5 cm and
QS =6.5 cm
(or)
Construct a parallegram ABCD, given that AB = 4.2 cm, BC =5 cm and £D = 45°
PART - B Max. Marks : 20
Academic | - prohlem Solving Reasonings and | o v unication | Connection Representation
Standard Proof
Part-B 14, 18, 19, 20, 21 (15, 16, 17, 23, 25 24,26
22,27,28, 29,33 30, 31, 32
Marks

Instructions : 1.

Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given

brackets.

3. Marks are not awarded for overwriting answers.
4. All questions carry equal marks.

20x1 =20

14. The Length of Rectangular Sheet is 20 cm, Area is 280 Sq. cm. Then its breadth is ..............
A) 14 cm B) 16 cm C) 12 cm D) 18 cm [

15.  Which of the following number have ‘9’ in units digits in its square (1) 13, (2) 13, (3) 19
A) only 1 B) only 2 C) only 3 D)yland2 |

16. If \/9604 =98 then \/96.04 = eeovvvevvennn.n [
A) 98 B) 9.8 C) 0.98 D) 0.098

17. If the median of the data 24, 29, 34, 38, x is 29 then the value of x is [
A) More than 29 B) Less than 29 C) 29 D) between 29-34

18. Product of (x+y) (x-y) is [
A) X2ty B) x* -y O (x+yy D) (x -y

19. No of factors to product of 2 x 3 x S1is ............... [
A)3 B) 6 C) 8 D) 4

20. Number of symmetric axes to a circle is [
A) 1 B) 0 C) 4 D) Infinite
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

in adjacent figure the value of x

B) 157 C) 179
n
If 7 =-3thenn=......ccce.......
A) -10 B) -21 C) +21

Among the following, a non linear equation is

A) 6x+3 =4 B) x>+1 = x*+5x C) 4x+3 = 2x

Compound Ratio of 3:4 and 2:3 is
A)1:2 B) 2:1 C) 89

Value of 6 is

A) Not Defined B) 0 OS5

All the bars in bar graph have

A) Same Length B) Same Breadth C) Same Area

Mode of the data 10, 12, 14, 10, 12, 16, 12, 10 is

A) 12 B) 10 C) 12 and 10

Number of latreal faces of a square prism
A) 4 B) 6 (O) I

Product of 5x and 6y is
A) 11xy B) 5x+6y C) 30xy

D) 56

D) +4

D) x*+5 =0

D) 9:8

[ ]
[ ]
[ ]
[ ]
[ ]

D) None of the above

If a Rectangle length is 3 units, breadth is 2 units and its similar rectangle length is 6 units then breadth

is
A) 5 units B) 2 units C) 4 units

20% of 60 is
A) 15 B) 12 C) 18

Equalent value for 102 is

A) B) C) -10%

1012 1210

Profit percentage (or) loss percentage is calculated on ..............

A) Selling price B) Cost price C) Rebate
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[ ]
D) Same Perimeter

[ ]
D) 12 or 10

[ ]
D) 8

[ ]
D) 30x + 30y

[ ]
D) 6 units

[ ]
D) 20

[ ]
D) -12'

only [ ]

D) VAT
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MODEL PAPER
SUMMATIVE ASSESSMENT-3

Class : IX Sub : Mathematics
Time : 2 hrs. 45 min Parts - A & B Max. Marks : 40
PART - A Max. Marks : 30
Academic Problem Solving R&P Coml.nuni- Connection Rep | Total
Standard cation

Q.No. 2 8 91 12| 13| 6 11 1 5 3 4 9 10 13
Marks

Instructions : 1. Read all the questions.

1
2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.
4. Answer all questions.
5
6

Every answer should write visibly and neatly.
There is internal choice in Section-III.

SECTION -1 4x1 = 4 marks

Note : 1. Answer all the questions.
2. Each question carries 1 mark.

=25
1.  Express g as decimal number

2. Find the value of X’ in the figure

B

\

(Bx+18) . _ 930

Ac—m— »6\ C

3. What is the ratio of surface area of sphere and hemisphere ?

4.  Express the below statement in a linear equation in two variables.
The sum of the two numbers is 24.

99



10.

11.

12.

SECTION - 11 5x2 = 10 marks

Note : 1. Answer all the questions.
2. Each question carries 2 marks.

— p
Express 1 25 in the ; form where q # o, p and q are integers and co-primes

Verify whether 2 and 1 are zeroes of polynomial x? - 6x + 8.

What are the possible polynomial expressions for the dimensions of the cuboid whose volume is
2x% - 8x ?

Find two rational numbers between 0.5 and 0.55

Find the remainder when x* + 1 is divided by (x+1), using division method.
SECTION - III 4x4 = 16 marks

Note : 1. Answer all the questions.
2. Each question carries 4 marks.

Visualise the representation of 5 ¢7 on the number line through successive magnification upto four
decimal places.

(or)

Draw the graph of the equation
x+2y=5

From the graph find

(1  the solution of (x, y) where x =3
(i) the solution of (x, y) where y =0

Verify that  x* + y* + Z° - 3xyz =

1 2 2 ’
- 5(x+y+z)[(x—y) +(y-2) +(Z_X)J
(or)

Prove that the product of two odd natural numbers is odd.

A conical tent was erected by army at a base camp with height 3m. and base diameter 8m. Find

(1)  The cost of canvas required for making the tent, if the canvas cost Rs. 0.70 per one sq.m. can
be seated in the tent ?
(i)  Find the number of person can sit in the tent if each person requires 3.5 cm® of air.
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(or)

In the below figure, find the value of x, y, z and a, b, c.

z°

x°
c° A
~ o 7
110° y
65°

13.  The volume of a cylinder is 308 cm’. Its height is 8 cm. Find its Curved surface area and total
surface area.

(or)
Simplify 4+/81 —8.3/343 +15.3/32 + /225
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MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3

Class :IX PART - B Max. Marks : 10
Academic AS-I AS-II  |AS-IIT|  AS-IV ASV  |Total
Standard

Q.No. 141 1511712613132 18|23|24|27(16(19]22]|28|19(30{20]21|25|33| 20

Marks

Instructions : 1. Answer all the questions in Part-B
Each question has 4 options. Write the capital letter indicating the answer in the given
brackets.
3. Marks are not awarded for overwriting answers.

4. All questions carry equal marks.

IV. Each question carries 1/2 mark. 20x1/2 = 10 marks
14, 3/322 = i, [ ]
1
A) 2 B) 4 C)6 D) 5
15. Rationalising factor of \/5 4+ /6 is [ ]
A) 5-6 B) 56 C) J5-6 D) 5++/6
. p
16. Express 3.25 in the form of ; [ ]
L o 65 K] o 13
) 4 ) 2 ) 40 ) 20
17. The value of p(t) = 5t> - 6t + 7 at t = -1 [ ]
A) -18 B) 16 C) 18 D) -16
18. The identity used in simplifying 101 x 99 is [ ]
A) (a+b)25(12+2ab+b2 B) (a—b)zzaz—Zab+b2
0) (a+b)(a—b) =a’-b’ D) (x+ a)(x+b) =x +(a+b)x+ab
19. The number of zeroes of a polynomial of degree ‘n” will have [ ]
A) n-1 B) n+1 QN D)n
20. Which of the following represents a ray [ ]
A) 4B B) 47 ) 15 D) AB
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21.

22.

23.

24.

How many dimensions a solid has

A) 4 B)3 C)2 D) 1
Find the value of ‘x°" in the adjacent '\3)(0 /’
ﬁgure 2x° X°
A) 30° B) 60° C) 90° D) 180°
Find the value of ‘x’ in the adjacent X/
figure / \

300
A) 120° B) 240° C) 60° D) 90°
In the adjacent figure /|| m and then the reason \
for /1 = /7 these are ........... angles. Nl > ¢ [ ]
A) adjacent B) vertically opposite 30%)05

C) alternate exterior D) alternate interior

25.

26.

27.

28.

29.

30.

31.

32.

33.

2015x + 2016y = 4031 represents a ..........cceeveveeennene.

A) straight line B) parabola C) curved line D) circle
If (2, 2) is a solution of 3x + ay = 8, find ‘a’
A) 2 B) 0 C) 6 D)1
The sum of the integers from -2015 to 2015 is ..............
A)0 B) 4030 O 1 D) 2015
A rectangle of length 44 cm is folded along with its breadth and formed a cylinder then radius of
the cylinder is .................. cm.
A) 44 B) 22 C) 7 D) 11
The ratio of volumes of cylinder and cone having same radii and heights is ...............
A) 1:3 B) 3:1 O)1:2 D) 2:1
Find curved surface area of a cylinder having r=xcm,h=ycm s ............ sq.cm
A) 27zx(x+y) B) nx*y C) mxy D) 2zxy
Product of first three consecutive odd natural number is ...........ccccceeenneeee
A) 15 B) 9 )0 D) 105
If x =2 then find the value of (x+5) (x+2)
A) 28 B) 40 C) 20 D) x*+7x+10
1
Which of the following figure represents on 3 on number line
»o~——f B )
0
3
| m | | | m | |
O =Ty 103® =T
3



MODEL PAPER
SUMMATIVE ASSESSMENT-3 (PAPER-II)

Time : 2 hrs. 45 min Parts - A & B Max. Marks : 40
PART - A
(Max Marks : 30)
Academic Problem Solving R&P Coml.nuni- Connection Rep | Total
Standard cation
Q.No. 2 81 91 12(13] 6 1] 1 5 3 419 10 13
Marks
Instructions : Read all the questions.

1.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should write visibly and neatly.

6. There is internal choice in Section-I1I.

SECTION - 1 4x1 = 4 marks

Note : Answer all the questions. Each question carries 1 mark.
1. Find the value of ‘X’ in the adjacent figure ‘O’ is center of the circle.

2. What is the probability of getting two heads while tossing two coins
simultaniously at once ?

3. Write the mark wise freequencies in the following frequency distribution table.

Marks 5 upto 6 upto 7
No. of students 5 11 19

4.  The opposite angles of a parallelogram are (3x - 2)° and (x + 48)°. Find the measurement of each
angle in the parallelogram.

SECTION - 11 5x2 = 10 marks

Note : Answer all the questions. Each question carries 2 marks.

5. In AABC ZB = 90°, AD = DC, AB = BC and AB = 12cm.
Then find the area of AABD.

6.  In the given figure the point ‘p’ bisects AB and DC.
Prove that AAPC ~ ABPD
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10.

11.

12.

13.

Write the formula for finding mean for a grouped data and explain its terms.

Write the uses of probability in daily life.

Write the points which satisfies the statements given.

1) The point A lies at 5 cms distance from X-axis and 3 c¢ms distance from Y-axis lieing in Q.

i)  The point B lies at 3 ¢cms distance from X-axis and 5 cms distance from Y-axis lieing in Q,.
SECTION - III 4x4 = 16 marks

Note : Answer all the questions. Each question carries 4 marks.

Centuries scored and number of cricketers in the world are given below :

No. of Centuries 5 10 15 20 25

No. of Cricketers 56 23 39 13 8

Find the mean by deviation method.

(or)

1 1
ABC is a triangle. D and E are points on AB and AC such that AD = ZAB’ AE = ZAC' If

DE = 2cm then find the value of BC.

Show that the diagonals of a parallelogram divide it into four triangles of equal area.
(or)
A bag contains 5 green, 3 blue, 2 red and 2 yellow balls. One ball is drawn out randomly.
a)  Are the four different colour outcomes equally likely? Explain.
b)  Find the sum of their probabilities. What do you observe.

In the figure PQ = RS and ZORS = 48°
Find ZOPQ and ZROS

(or)

In the adjacent figure, AB = BC and AC = CD.
Then find out the ratio of /BAD and ZADB.

Plot the points or a graph sheet. Which points lie on same line.
A) (0, 4), B) (5, 0), C) (-3, -2), D) (2, -13), E) (2, 3), F) (0, -8), G) (-3, 0), H) (-3, 4),
D (0, 6), J) (-6, 0), K) (2, 8), L) (-3, 2)

(or)

In AABC, AB = 6.5 cm, BC = 7.2 cm and £A = 60°. Construct AABC and also construct
circumcirle to AABC. 105



MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3 (Paper-II)

Class : IX PART - B
(Max. Marks : 10)
Academic AS-I AS-TI  |ASIH|  ASIV ASV  |Total
Standard

Q.No. 141151 1712613132 18|23|24|27(16(19]22]|28|19(30{20]21|25|33| 20

Marks

Instructions : 1. Part B questions should be written in the question paper only.

14.

15.

16.

17.

18.

19.

20.

21.

22.

2. Write capital letter of the most relevant answer in the brackets given.
3. Every question carries 1/2 mark.

4. Overwriting and corrections are not valued. 20x1/2 = 10 marks
Which of the following is on )y in graph [ ]
A) (4, 0) B) (0, 0) O) (-3, 0) D) (-3, -2)
If an exterior angle and its adjacent angle in the triangle are in the ratio of 5:4, and the interior
opposite angles are in the ratio of 1:4, then the triangle is [ ]
A) Isosceles B) Equilateral O) Right triangle D) Scalene
If x > 0, y <0 then (-x, y) lies in [ ]
A) Q B) Q, O Q, D) Q,
Median of 2, 5, 3, 7, x is 4 then x = [ ]
A) 2 B) 3 C) 4 D) 5
Which of the following points abscissa is more than its ordinate by 2. [ ]
A) (-4, 2) B) (2, 4) O (1,1 D) (1, -1)
Ife6,7,8,9,10,6,7,10,7,6,7,9, 7, 6 are the sizes of shoes, then mode is [ ]
A) 6 B) 7 09 D) 10
In a AABC AB > BC > AC then the smallest angle in the triangle is [ ]
A) LA B) «B C) £C D) ZA and £C
The diagonal Cross section of a cube is [ ]
A) Square B) Rectangle C) Rhombus D) Circle

Test Scores 91-100 81-90 71-80 61-70
Greater than 20 14 5 2

Cumulative frequency

From the above table the class interval having frequency 9 is
A) 91-100 B) 81-90 C) 71-80 D) 61-70
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

From the adjacent figure the value of x°

A) 500 B) 40° C) 80°

D) 100°

When the number of observation ‘n’ is odd, then the median is which observation

NEDEEETC BRI CH)

If FQ || RS in the given figure then the true statement is
A) 4D || BE B) CF || AD

C) BE||CF D) BE | CF

In AABC ZA =70°, g, CF are the bisectors of ZB and ZC meets at O.

Then ZBOC =
A) 80° B) 90° C) 115°

Mean of first 10 whole numbers
A) 5.5 B) 4.5 05

Which of the following represents mean through deviation method.

A) ¥ 2K B x= 2%
) Con ) > f

The lower boundaries of successive classes are 19.5, 29.5, 39.5 then the

class interval is
A) 10 B) 11 C) 10.5

The probability of winning a prize in an event

A) 0 B)% Q) 2

>f
)x A+—"*

oy

D) 125°

D) 6.5

D) 11.5

Which of the following figure represents Angles opposite to equal sides are equal

A) )

From the adjacent figure the value of >
A) 50° B) 130°
C) 100° D) 80°

If probability of a certain event A is p(A) = x then p'(A) is
1

A) ~-1 B) 1-— 0 =
)x ) X )x

107
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JrB8 (SNBSS0
SorerdE Srorsosto-3 (DH5-1)

S8 1 9 Hdo
sPodo 1 2 Ho. 45 Q. >E-A&B f0g Srdnen : 40
FE - A
[)
(Hogh Srdyen : 30)
AT SoBesen (@8RS
% EDGWSE <
e By FES Seso JEROVEO[  edodogrdo 4850t Sngo
(&) So. 2 8|1 9 12113 6 11 1 5 3 4 9 10 13
ESvlew Y
{JeSden : o) D& L'_%Cgrw SBS0&.

&@-A B D0206008 (DY W8T ﬁ)a%ég aaran HPos® (oHod.
FB-A Std VESOT  §0ENOB.

o) DD Direrddne (Pabod.

PSRV LA PR VOIS @aéomzéa, BH(ggorrd (Padho’.

DES-IIT $0859 (o ©088E NoDE (Internal Choice) &oenod.

S o e

g - 1 4x1 = 4 Srtnen

Srdlen 1 1. o) DHoDH wsreven ([@PADoE.
2. (& BHH 1 Sodsy

-25

l. ; o doggd Bzeod BrH0e® [TeoD0s.
B
2. (B H005008 X' oo EHFE0s. ’\
(3x°+18)° . _93°
Ae— 'o\ C

3. RESm 0 ofif¥ine aiddy Iwoge PBD S,

4. (8od Bzroeeq) Bok H¥THes® Bh HhEsmre wdm Be)ob.
“Botdh Jogge Iwdo 24”.
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10.

11.

12.

DES - 11 5x2 = 10 Swdnen

B8 1 1. o) Db J&rerddven (Gechod.
2. (& DD 2 Setnen.

p
125 & ; (q # 0) &@Hos® (aHod. p, q e IrdKoggen HOAD BB (HeeRroseen.

X2-6x+ 8% 2 HOGH 1 @3 Jevden IrIed wHTER B&° $oSrEod.
2x% - 8X @ 53@26 03588709 ééﬁa"@&aaéé ég@;ﬁo@wé& odire Soden Be)o&.
0.5 $o8aw 0.55 © iy ot ESHKD KoageS0Ew.

X+ 1 (x+]) B et $388° g S o EHFB0s.

ES - 1T 4x4 = 16 Lr8nen
B8 1 1. o) Db J&rrdduen (Gechod.
2. (K& DD 4 Setnen.

2.6; S T’ S0 ﬁgme BB (BXoodonies 56205:6 K)Cg@@s 60315"5333';’.3 LBeHod.
(&)

X+ 2y =5 &% Bgrd@snd AcHod.

& BgrdBswod (8odardd SRS,
) x =3 odgdForr (x, y) & a8 &S
(i) y=0 odgdForr (x,y) & ad FF.

1
X+ y+ 7 -3xyz = —(x+y+z) (x—y)2+(y—2)2+(2—x)2 S DBSeE08.
2

&)
“BotHd é?oéoaa?ge ©80 2.8 5?’0‘(}0&3?3” ©d JBPD0BoA.

?\_)2652533 N 359500“@ 5% $ognd wseSost DB 3 &, H08050 & agézéw 8 &u.re
QB0 IHTREE0K bcbéwé)?o?é

() HEedsn SSrRHIHTAE S50 ¢y Gog) Io 35.80.% &r.70 ®ond Iwdo B
Q0&?
i) ©& 88 3.5 0.8, O sHecinod Heedod® érob'f)ﬁ@ xR Dogg HoB?
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13.

&)

Lo“aé&o“aeaoé‘s X, Y, Z 0O
a, b, co Qewden BEIAPI08. e \XO 2
) 110° y i
65°

éa;o“ao oz_baégr HodH85re0 308 $0.20.8., D% 8 20.&. ®ond e L;.’)é&eﬁe Q@@éméa,
éocfg?gée STegnD  BHRI08.

(&)
481 - 83343 +15.332 + 225 & “r§soisod.
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JrB8 (HFNHER0
Sorerds Srorsosto-3 (DH6-1)

HA8o
S8K8 1 9 > - B
(H0g Srtiyen : 10)
I~ SPSesen 358 Eptaly
£ L 3335
G | OV S Bodto  fssto| TUNOFTRC | st =2°
&) So. [14]15|17(26(31|32(18]23|24(27]|16|19(22|28|19(30]|20|21{25|33| 20
S vlew)SH
SreSden @ 1. P-B $089 o) (e ISrprdinen (@@ehod.
2. (& BEB [02060DI warend Sedod o DY BB (DHS AN
@8RSt (Frabod.
3. ?@365@», &é(gaﬁégé) SrBnen  Sacaatsd.
4. o) BEHoDH Srdyen DKo,
20x1/2 = 10 Seten
14, §/322 = i, [ ]
1
A) 2 B) 4 Q) 6 D) 3
15. 546 & ©8580%H S80T°8 ...oovcvee, [ ]
A) J5-6 B) 5-6 C) J5-6 D) 5+4/6
16. 3.25 % fé}véoé‘s BB, [ ]
Rt 5 65 E ]
) 4 ) 2 ) 40 ) 20
17. t=-1388 p(t) = 5t* - 6t + 7 B DS oo [ ]
A) -18 B) 16 C) 18 D) -16
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

101x99 & SrgE6ostod® addrRodm $EwaESH0

A) (a+b) =d*+2ab+b* B) (a=b)’ =a’ ~2ab+b’

C) (a+b)(a-b)=a’-b’ D) (x+a)(x+b)=x>+(a+b)x+ab
‘N’ N DB 2ST0HNEH @Dé& f&vmge; éoapé .................

A) n-1 B) n+1 C) 0 D)n

8od T’ 88eansdd KPDODHBB ..oovevee.n

A) 4B B) 4B C) 4B D) AB

P08 ) Eodenotron?
A) 4 B) 3 Q) 2 D) 1

Lo“aé&o“aéaoeSa 1D G- L5 o - RO
A) 30° B) 60° C) 90° D) 180°

@é&o“aeaoés X’ Qensd / \
30°

A) 120° B) 240° C) 60° D) 90°

@é&o“aeaoés lm, ©3ptH

/1 = /7 & S%eoen ... Segren 0. \
A) 58 B) o iog S

N 3 4 7 Z
C) DSeriteg D) Hsr0ss < s - >
2015x + 2016y = 4031 &3 SE0EB0 ..oeeevvvinnnnn... L Kordos.

A) 3683 B) Hoedecho C) $&3 D) $do

3Xx+ay=8% (2, 2) a8 55 ©ond ‘@’ DS ..oceeee....
A)2 B) 0 Q) 6 D) 1

-2015 K008 2015 88> Ke @géospg@ v ooT 1
A)0 B) 4030 01 D) 2015

112



28.

29.

30.

31.

32.

33.

a8 6325»{5636@@ LY 44 0.8, =@ Jen) ©oth Jol HED m{;o“)orv’ 257065655 es

é:c;o“amagf)"go ............ 20.8%.
A) 44 B) 22 C) 7 D) 11

@5@"0@‘;@0, NFHen ddedorrerie Kw;a’azﬁaa, Fogny) oIB0SPET AP ...........

A)1:3 B)3:1 C) 12 D) 2:1
r=x%0.0., h=y0.., fo irdo EHB BTG e
A) 2zx(x+y) B) nx*y C) mxy D) 2zxy

BB SHD Koo B HDees éoapeg@ ORO i
A) 15 B) 9 Q)0 D) 105

X =2 @ond (X1+5) (x12) De0d wevvvniinnnnnnn

A) 28 B) 40 C) 20 D) x+7x+10

1
Bod e’ 3 B DogeBap Jrdod Ho dB?

A) : Al B) <——+—+—+1A
ké) 0 1 2 \3}
0] | D) I L

BYR i
v
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10.

2ES - 1

BT 1 & Jgrro Jotd 0id (DEHer a3EID. @) D JIrEPERPISL.
32 DD 2 SoBnen BeronosasSs. 5x2 = 1030

AABC &® /B = 90°, AD = DC, AB = BC &85 AB = 12cm.
©ond AABD Fzeersd) SfPlod.

Q.’Jé& Herost A_B,C_D e ‘p’ Eﬁtg ESEvIaICelaty BoB0eran. ©ond
AAPC =~ ABPD &0 080308,

Eééé@)éé B0 3°08 @oééﬁatﬁg&aaﬁw EPET8 &HRTA0D r@ed) (@R 0088 Hrred
5EDES08.

‘éowaéééé’ o K)éé%%@éoés SHRPHHE éocﬁcgbozéo TeOn0&.
Bod aEgets e‘é@%}néé?ﬁ DoHABETIOR  (Faol.

0) A Boths) X-ofo Hod 5 el ErSost, Y-0080008 3 0hredéy Er8o&t Gotor
BB Fso (Q,) & Ko Hokd.

ii) B 80t X-Fo ol 3 crdéy ErSost, Y-og0 od 5 0.8, 880t sotae
Bo&d FEos® (Q,) Ko Hownd.

SECTION - III 4x4 = 16501

B8 1 1. & Jgrrsos® 4 DEeo BoD. (58 BESH o888 oSS (Internal choice)
Both. A6 a8 BHH PG IErEEENHIEHS0.
2. 158 D 4 SrBnen BePonOSETIG.

(83e0sy, a8 B[S Hxiben (8ods é@éé‘g BB, &8 S0 8 Dol o“atgé’é’ (Deviation)
& ©o8Kisn EPIod.

DG Horden 5 10 15 | 20 | 25
(Ro38e éoap?g)

(888 Soayg 56 23 39 13 8
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11.

12.

13.

&)

- 11—
AABC &° 75 S8 4C © D Dooden D bdcs» E. 4 =748, 4E=_4C,
DE =2 20.8> wowd BC dendd EHRPE08.
JSroess z‘ﬁééaéae)&oég Both Bpen Teord VRS JTersen Ko (Bgheren DBYSHD
QPR 0B50&.
(Eo)

28 %00t 5 DY), 3 Do, 2 DD HBA® 2 HHH oHen Bod. Hod Hod a8
2089 oﬁ:vtﬁaz‘l)‘)éom &cdHre

a) o) oo woden N8 He HEgHTPTEen BXpK0NSr? DSBoSos.

b) o) IIPTre Dogrdgde Iwgo NoB? A HXAoTEE?

(&) dwos® PQ = RS B LORS = 48°
®ond ZOPQ Hdakm ZROS o P50,

&)

(%) Seos® AB = BC $&csw AC = CD.
wand ZBAD %80 ZADB © 80 SfPh0s.

(™5 =AS0S® (Bod JBrHE DothHe HBoSos. G HothHen &8 Ty Bos’ Benos.

A) (0, 4) B) (5,0) C) (-3, -2) D) (2, -13) E) (2,3) F) (0, -8)

G) (-3,0) H) (-3, 4) ) (0, 6) I (-6, 0) K) (2, 8) L) (-3, 2)
(&)

AB = 6.5 20.80, BC = 7.2 20.8 %8¢ LA = 60° Sodos® @gbezo AABC & 80D,
8 DB AGoFod.
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14.

15.

16.

17.

18.

19.

20.

21.
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2. B8 6D 1/2 Sty SeranoBEBI.
3. o) e JrrrddSNsy.
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Bod A8* (5SS Oy D God Do [ ]

-
[l
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a8 (83he08® ersEmo, TR W Eleine AR 5:4 i, wodTdiny e QY
1:4 o 6ol & (Bghezo [ ]

A) B8R B) d8erss0 C) wo8’s (@gHazo D) Qdsoersso

x>0,y <0 o®wd (-X, y) 6o aREo [ ]
A) Q B) Q, O Q D) Q,

2,5,3,7, x o Fo 4 @amd x Jend Hod? [ ]
A)2 B)3 C) 4 D) 5

8od IS x-QrHE0, Y-AEFHE0 8T Botd EPSTE &HO [ ]

A) (-4, 2) B) (2, 4) O L1 D), -1)

ard) ade eren SBdre 6,7, 8,9, 10, 6, 7, 10, 7, 6, 7,9, 7, 6 @00l s50E80

A) 6 B) 7 C)9 D) 10 [ ]
AABC & g > BC > AC ®ond @8 a0 [ ]
A) ZA B) /B C) £C D) ZA, £C

DB BYo Joadld @ g5%3% AYES Bwo GwE) esPdo [ ]

A) $&8%0 B) 88580 C) $isehtsyeso D) o
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

TS HorHen 91-100 81-90 71-80 61-70

85500 20 14 5 2

: 950
P DBE08 FHDKM 9 ™ Ko EEKS [ ]
A) 91-100 B) 81-90 C) 71-80 D) 61-70

8, He0&® LA = 50°, OA = OB @ond x°dend Dod?

A) 50° B) 40° C) 80° D) 100°
é@jo%o@s 588 éoapg ‘n’ 55?0&0&35 9ONS éafﬁéﬁééo [ ]
th th th th

n n+l 1 n
A) (5+1) S dewd  B) (T) S Dewsd C€) (’Vra) S densdd D) (E_ ) S Nend
B850 PO RS Bobd &S 28 S50 [ ]
A) 4D || BE B) CF || 4D
C) BE||CF D) BE 1 CF

AABC & ZA = 70, BE,» CF &0 S%dre /B &8dsw £C o R, 58836633&5330&:6 Bgren

O 38 9oloHEHD. wavd ZBOC = ... [ ]
A) 80° B) 90° C) 115° D) 125°
A& 10 Jrorosee Hen ... [ ]
A) 5.5 B) 4.5 0 s D) 6.5
FARR OS] écgé’éég 0800 EATODH dr@o [ ]

- 2x - _ XX - ¥f.d; (njth

=—L x =L x=A+—=—L i
A) x . B) >/ 0) >/ D) > S Dend
Loty DD BERB0 BwE) DD Feehen HBde 19.5, 29.5, 39.5 wand SBKS wodBkw
A) 10 B) 11 C) 10.5 D) 11.5 [ ]
a8 BESF 250HBY RewidHerdH Ko Bogrgd [ ]
1

A)O0 B) 5 C)2 D) 1

S(80d Hetred® “Wbirdihere BH%e ¢ot Seren $HE$0” oF) %08 @‘382065?32663
Seo [ ]

A) 0
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32. 1% $e08% x Dend
A) 50° B) 130°
C) 100° D) 80°
33, A @3 Hed @ws) Sogrsgd p(A) = x @ond pl(A) =

1 1 1
A) ;—1 B) 1—; C); D)1-x
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MODEL PAPER

SUMMATIVE ASSESSMENT-3

Sub : Mathematics - PART-A

Instructions :

Academic Problem Solving R&P | Communi-| 0 ection Rep | Total

Standard cation

Q.No. 2 8 91 12| 13| 6 11 1 5 3 4 9 10 13
Marks

Sub : Mathematics - PART-B

Academic AS-1 AS-IT  [ASII|  AS-IV AS-V  |Total
Standard

Q.No. 141 15[117126]31(32]|18]23|24|127]16(19122]128[19|30|20{21(25]33( 20
Marks
Time : 2 hrs. 45 min Parts -A & B Max. Marks : 40

PART - A Max. Marks : 30

1. Read all the questions.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.
5
6

Every answer should write visibly and neatly.
There is internal choice in Section-III.

SECTION - 1

Note : 1. Answer all the questions.
2. Each question carries 1 mark.

=25
Express ; as decimal number

Find the value of ‘x’ in the figure
B

\

(Bx+18) . _ 930

A .b\ C

What is the ratio of surface area of sphere and hemisphere ?
120

4x1 = 4 marks



10.

11.

12.

Express the below statement in a linear equation in two variables.
The sum of the two numbers is 24.

SECTION - 11 5x2 = 10 marks

Note : 1. Answer all the questions.
2. Each question carries 2 marks.

_ p
Express 1 75 in the ; form where q # o, p and q are integers and Co-primes

Verify whether 2 and 1 are zeroes of polynomial x* - 6x + 8.

What are the possible polynomial expressions for the dimensions of the cuboid whose volume is
2x? - 8x ?

Find two rational numbers between 0.5 and 0.55

Find the remainder when x* + 1 is divided by (x+1), using division method.

SECTION - 111 4x4 = 16 marks

Note : 1. Answer all the questions.
2. Each question carries 4 marks.

Visualise the representation of 5 ¢7 on the number line through successive magnification upto four
decimal places.

(or)

Draw the graph of the equation
Xx+2y=35

From the graph find

(1  the solution of (x, y) where x =3
(i) the solution of (x, y) where y = 0

Verify that  x* + y* + 2° - 3xyz =

— %(x+y+z)[(x—y)2 +(y—z)2 +(Z_x)2}
(or)

Prove that the product of two odd natural numbers is odd.

A conical tent was erected by army at a base camp with height 3m. and base diameter 8m. Find

(1)  The cost of canvas required for making the tent, if the canvas cost Rs. 0.70 per one sq.m. can
be seated in the tent ?

(or)
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13.

a°

/N x
6 A N
110° y
65°

In the above figure, find the value of X, y, z and a, b, c.

7z

The volume of a cylinder is 308 cm®. Its height is 8 cm. Find its lateral surface area and total surface
area.

(or)
Simplify 44/81 —8.3v/343 +15.5+/32 +/225
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MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3

Time : 2 hrs. 45 min Parts -A & B Max. Marsk : 40

Time : 30 min

Instructions : 1.

14.

15.

16.

17.

18.

19.

20.

21.

PART - B Max. Marks : 10

Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given
brackets.
3. Marks are not awarded for overwriting answers.
4. All questions carry equal marks.
Each question carries 1/2 mark. 20x1/2 = 10 marks
54322 T e [ ]
1
A) 2 B) 4 C) 6 D) 5
Rationalising factor of /5 +./6 is [ ]
A) 5-6 B) 5-/6 C) J5-6 D) 5+/6
. p
Express 3.25 in the form of g [ ]
R NG SE] ]
) 4 ) 2 ) 40 ) 20
The value of p(t) = 5t* - 6t + 7 at t = -1 [ ]
A) -18 B) 16 C) 18 D) -16
The identity used in simplifying 101 x 99 is [ ]
A) (a+b) =a*+2ab+b’ B) (a-b)’ =da’ ~2ab+b’
O) (a+b)(a—b) =a’ -b D) (x+ a)(x+b) =x +(a+b)x+ab
The number of zeroes of a polynomial of degree ‘n’ will have [ ]
A) n-1 B) n+1 O o0 D) n
Which of the following represents a ray [ ]
A) 4B B) 4B C) 4B D) AB
How many dimensions a solid has [ ]
A) 4 B)3 C)2 D) 1
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Find the value of ‘x°’ in the adjacent '\3 ) /’

ﬁgure 2x° X°
A) 4B B) 15 C) 4B D) AB
Find the value of X’ in the adjacent x/
figure
300
A) 120° B) 240° C) 60° D) 90°
In the adjacent figure /|| m and then the reason
for <1 - <7 these are ........... angles. \
A) adjacent B) vertically opposite 23 > ¢
C) alternate exterior D) alternate interior >m

2015x + 2016y = 4031 represents a ..........cceevuveeennene.

A) straight line B) parabola C) curved line

If (2, 2) is a solution of 3x + ay = 8, find ‘a’

A) 2 B) 0 06

The sum of the integers from -2015 to 2015 is ..............

A)O0 B) 4030 O1

A rectangle of length 44 cm is folded along with its breadth and formed a cylinder then radius of
the cylinder is .................. cm.

A) 44 B) 22 C) 7

D) 1

D) 2015

D) 11

The ratio of volumes of cylinder and cone having same radii and heights is ...............

A)1:3 B) 3:1 C) 1:2

Find curved surface area of a cylinder having r =x cm, h =y cm is

A) 2ITx(x+y) B) Ix’y C) Ixy

D) 2:1

Product of first three consecutive odd natural numberis ........ccccceeeeeeen....

A) 15 B) 9 C) o0
If x =2 then find the value of (x+5) (x+2)
A) 28 B) 40 C) 20

Which of the following figure represents on 3 on number line

D) x*+7x+10

A) i B)

C) I D)
o ) 124 ‘

[

[

[a—

]



MODEL PAPER
SUMMATIVE ASSESSMENT

Sub : Mathematics - PART-B

Academic AS-1 AS-IT  [AS-II|  AS-IV AS-V  |Total
Standard
Q.No. 141151 17126(31]32(18|23(24|27|16]|19[22(28]19(30]20(21]|25(33]| 20
Marks
Q0 (RTD(Ew
Sdofirerd)s Srargosio-3
S8 1 9 Hd8o
oo @ 2 o, 45 Q. 3"6:” -A&B 21653 Srdqen ¢ 40
oo : 2 o, 15 Q. 3°§3 -A 21553 Srdqen ¢ 30
Sedlen 1 1. o) oo L%Cgrw SBH08&.
2. FH-A D Jo2060RS (e wTeere ﬁb%fb aaren HBoS® ([aHod.
3. FG-A Jrth JEIe0MT 0o
4. o) DD Jrrrdsoen (@echod.
5. J&rpeddnodn QRorrd, HEhorrd (@echod.
6. JDES-I $08® (HEHoH @088 JodE (Internal Choice) &oéxob.
g - 1 4x1 = 4 Srtnen
Srdlen 1 1. o) DHoDH wareven (PO
2. & BEHH 1 Sodsy
=25

1. ; oI doggd derod ErHost Exjdenlelent

2. (B8 D00l X' Dendd EPSol.

B
GxH18) 930
Ae— 'o\ C
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10.

11.

Ahgsn Dbakn offifdine eidde Jwoge IPBY SFrw.
Bobd SepoaR) Boh SETeHe® Bhah $ESwre adm Beyod.
“Both Jogge Iwdo 24”.

ES - 11 5x2 = 10 Srdnen

Note : 1. o) Do Jrerdsnen (E°chod.
2. (& DD 2 Seyen.

p
125 ; SreHos® (@eohod. p, q e PBKoggen B q # o.

X2 -6x+ 8% 2 S8 1 93 Jendew EPTRe0 @HT TP B KBS Eoa.
2x2 - 8X @ ég{»é EOVRN IS Torvitor) 6&6703’350&83(‘% ég}a’wéo@é& oHEre Foder B0l
0.5 $8aw 0.55 © iy Botd ESHKD KoagesoSsw.

X1 (xH) B et 9386° grRd ST o SHFB0s.

ES - I 4x4 = 16 Srpen

Note : 1. o) Do J&rerdsven (E°chod.
2. (58 DB 4 Sreden.

267 B Teold God o HEH BN B85 DS HogBap HrHod.
&)

X+ 2y =5% Bgrd@snd Achod.

& BgrB5n0d (Bobardd EHFACE08.
) x =3 odgdFore (x, y) & a8 FF.
(i) y=0 odgdForr (x,y) & ad FF.

1
X +y +7-3xyz = §(x+y+z)[(x—y)2+(y—Z)2+(Z—X)2} S H8SmE08.

&)

“BotdH 53?0&0&350 ©80 2.8 53?060335” @ QBr0BoA.
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12.

13.

FRINw ) 853"?30@ 8% 0g0s) eseEosd B 3 . 08350 & a‘gézﬁp 8 .
80Ky DTS 8)03@333?05

() HSE0 SSEEHVOHEIE SPHOVS @& GE) I 3.80.% 8.70 eond o uY)
Qo&?
i) & 88 3.5 0.8, ™0 HeRcinos Hedod® éavé'i)ﬁe: e Koz DoB?

(o)

He0® X, y, 7z B % .
a, b ceo Qeden BHAPI08.
/100 Y

éJC;éo cﬁwégy HodHBEre0 308 $0.20.8., D% 8 0.9, ®ond el @é&é@ Q@@éé»ééa,
dosrdde Seregin EAS0E.

(&)
4481 -8.3v/343 +15.532 +/225 & Sr§8B0S08.
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JrB8 (HFNHER0
Solirerd)s Srargosio-3

S888 1 9 8380
o 2 Ho. 45 Q. %&Q-A&B
P @ 30 . 5‘53 -B
BelSden @ 1.

14.

15.

16.

17.

18.

19.

2. & DEHD Do0HoNS earenn IrDo @oi D

erees® (Frabod.
?@36@3, &éga?é{géa SBen  SsoHED).
4. o) BEHDH Srdnen BeHo.

8 BHD 172 Sy,

PB-B 5080 o) HHedH JSrerdiven (cHod.
8 ©F8IN0 S ad)d

216&3 aﬁr&&e:o : 40

216&&’:3( aﬁﬁ&&e» : 10

“A

20x1/2 =10 26306)&@

54322 T e [ ]
1
A) 2 B) 4 Q) 6 D) 5
546 & ©8880%H S80T°8 .....ocue.. [ ]
A) J5-6 B) 5-/6 C) 5-6 D) 5+/6
p

3.25 & P Er08® H5E08 L. [ ]
RRE o 8 o 13 N

) 4 ) ) ) 40 )20
t=-138 p(t) = 5t* - 6t + 7 Tng) DD v [ ]
A) -18 B) 16 C) 18 D) -16

10199 & &r§EBosKos® ebd@rhod $ERESEm0 [ ]
A) (a+b) =a*+2ab+b? B) (a—b) =a*—2ab+b’
O) (a+b)(a—b)zaz—b2 D) (x+a)(x+b):x2+(a+b)x+ab

N DOIres DTVHE AE) EPTYL KO +eeeeniiiiinnnn [ ]
A) n-1 B) n+1 co0 D)n
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

8od U’ 88eansdd KPDODHBB ..oovevee... [ ]

A) AB B) 4B C) 1B D) AB
8 YY) Fedenotron? [ ]
A) 4 B) 3 C) 2 D) 1

©8)00008° X Q0B .o zw“xfz [ |

(©85008° X Dewd * [ ]

A) 120° B) 240° C) 60° D) 90°
Lo“aé&o“aeaoeis [ m, eoptH
<l - <7 & S%men .............. SSecen  erH. \ [ ]
1
“ 2
A) &3 B) %Gg@:éwsp < AS v - > ¢
C) dEerssy D) dsrodd S 7& Zm
2015x + 2016y = 4031 &3 SEEEL0 ..oveeeveenennnn S dordoshd. [ ]
A) 583 B) Soededho C) %3 D) &&o
3x +ay =85 (2, 2) a8 55 ©and ‘@’ DD ..eeeen.... [ ]
A)2 B)0 C) 6 D) 1
-2015 Zoo& 2015 B8 Ko JPER08e SNDEO .oovveireiienien, [ ]
A) 0 B) 4030 O 1 D) 2015

a8 ég{ﬁéﬁ@oﬁ) DEDH 44 0.8, SKen) @0 Joad DED é;;o“)om 253063555 &

QPHTEPLO v 20.8. [ ]
&) @

A) 44 B) 22 C) 7 D) 11

a°§©°c£e1>, Qe JeSorrerie K));o“a‘cﬁw, Bogn) HIVOITETD JPB ..o [ ]
A)1:3 B) 3:1 C) 1:2 D) 2:1

r=x20.8., h=y%o0.&., Ko K)J;E{Jo DB SBOLO i, [ ]
A) 2ITx(x+y) B) Ix’y C) Ixy D) 2Ilxy
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31.

32.

33.

NGB S Lo B Dees Qdogge ORO i
A) 15 B) 9 C) 0

X =2 @ond (X1+5) (x12) De0N cvvvnvinnnnnnn

A) 28 B) 40 C) 20
1

8od aQ&* 3 V) éoa?egéa)';’.g (Do Heo 6?

A) | B)

D) 105

D) x>+7x+10

o =4
—_

<P

0) D)

D

—H—
OU23 0

o=
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MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3 (Paper-II)

Time : 2 hrs. 45 min Parts - A & B Max. Marsk : 40
(Co-ordinate Geometry, Triangles, Statistics, Quadrilaterals, Probability, Areas, Circles, Constructions)
Time : 2 hrs. 15 min PART - A Max. Marks : 30

Instructions : Read all the questions.

1.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should be supported with justification.

6. There is internal choice in Section-III.

SECTION - 1

Note : Each question carries 1 mark.
1. Find the value of ‘X’ in the adjacent figure ‘O’ is center of the circle.

2. What is the probability of getting two heads while tossing two coins
simultaniously at once ?

3. Write the mark wise freequencies in the following frequency distribution table.

Marks 5 upto 6 upto 7
No. of students 5 11 19

4.  The opposite angles of a parallelogram are (3x - 2)° and (x + 48)°. Find the measurement of each
angle in the parallelogram.

SECTION - II
Note : Each question carries 2 marks.

5. In AABC £ZB =90°, AD = DC, AB = BC and AB = 12cm.
Then find the area of AABD.

6.  In the given figure the point ‘p’ bisects AB and DC.
Prove that AAPC ~ ABPD

7. Write the formula for finding mean for a grouped data and explain its terms.

8. Write the uses of probability in daily life.
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10.

11.

12.

13.

Write the points which satisfies the statements given.

1) The point A lies at 5 cms distance from X-axis and 3 ¢cms distance from Y-axis licing in Q.

i)  The point B lies at 3 ¢cms distance from X-axis and 5 cms distance from Y-axis licing in Q..

Note : 1. Each question carries

2. Each question carries 4 marks.

Centuries scored and number of cricketers in the world are given below :

SECTION - III

No. of Centuries 5 10 15 20 25
No. of Cricketers 56 23 39 13 8
Find the mean by deviation method.
(or)

ABC is a triangle. D and E are points on AB and AC such that AD =

DE = 2cm then find the value of BC.

1 1
;AB,AE = JAC. If

Show that the diagonals of a parallelogram divide it into four triangles of equal area.

(or)

A bag contains 5 green, 3 blue, 2 red and 2 yellow balls. One ball is drawn out randomly.

a)  Are the four different colour outcomes eqully likely? Explain.

b)  Find the sum of their probabilities. What did you observe.

In the figure PQ = RS and ZORS = 48°

Find ZOPQ and ZROS

(or)

In the adjacent figure, AB = BC and AC = CD.
Then find out the ratio of /BAD and ZADB.

Plot the points graphically. Which points lie on same line.
A) (0, 4), B) (5, 0), C) (-3, -2), D) (2, -13), E) (2, 3), F) (0, -8), G) (-3, 0), H) (-3, 4),
I) (07 6)’ J) (_67 0)7 K) (27 8)9 L) (_3’ 2)

(or)

In AABC, AB = 6.5 cm, BC = 7.2 cm and £A = 60°. Construct AABC and also construct

circumcirle for that AABC.
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MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3

Time : 2 hrs. 45 min Parts -A & B Max. Marsk : 40
Time : 30 min PART - B Max. Marks : 10

Instructions : 1. Part B questions should be written in the question paper only.

10.

2. Write capital letter of the most relevant answer in the brackets given.
3. Every question carries 1/2 mark.
4

Overwriting and corrections are not valued.

Which of the following is on )y in graph [ ]
A) (4, 0) B) (0, 0) C) (-3, 0) D) (-3, -2)

If an exterior angle and its adjacent angle in the triangle are in the ratio of 5:4, and the opposite
interior angles are in the ratio of 1:4, then the triangle is [ ]
A) Isosceles B) Equilateral C) Right triangle D) Scalene
If x>0, y <0 then (-x, y) lies in [ ]
A)Q B) Q, O Q, D) Q,

Median of 2, 5, 3, 7, x is 4 then x = [ ]
A) 2 B) 3 C) 4 D)5
Which of the following points absessa is more than its ordinate by 2. [ ]
A) (-4,2) B) (2, 4) O (-1, D D) (1, -1)
Ife6,7,8,9, 10,6, 7,10, 7,6, 7,9, 7, 6 are the sizes of shoes, then mode is [ ]
A) 6 B) 7 09 D) 10
In a AABC AB > BC > AC then the smallest angle in the triangle is [ ]
A) ZA B) /B C) «C D) ZA and £C
The diagonal Cross section of a cube is [ ]
A) Square B) Rectangle C) Rhombus D) Circle

Test Scores 91-100 81-90 71-80 61-70

Greater than 20 14 5 2

Cumulative frequency

A) 91-100 B) 81-90 C) 71-80 D) 61-70

From the adjacent figure the value of x°
A) 50° B) 40° C) 80° D) 100°
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

When the number of observation ‘n’ is odd, then the median is which observation

e e ol e

If PO| RS inthe given figure then the true statement is
A) 4D | BE B) CF || 4D
C) BE| CF D) BE 1 CF

In AABC ZA =70°, BE, CF are the bisectors of ZB and ZC meets at O.
Then ZBOC =
A) 80° B) 90° C) 115° D) 125°

Mean of first 10 whole numbers
A) 5.5 B) 4.5 C) 5 D) 6.5

Which of the following represents mean through deviation method.

_ =M =% = A+ =270 n
A) X n B) ¥ > f o +Zﬁ D)(zj

The lower boundaries of two successive classes are 19.5, 29.5, 39.5 then the
class interval is

A) 10 B) 11 C) 10.5 D) 11.5
The probability of winning a prize is

1
A) 0 B) ) C) 2 D) 1

Which of the following represents ‘Angles opposite to equal sides are equal

A) @)

From the adjacent figure x is
A) 50° B) 130°
C) 100° D) 80°

If probability of a certain event A is p(A) = x then p'(A) is

Al—l Bl—l Cl D) 1
) ) 1= ) ) 1-x
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JrB8 (HFNHER0
Solirerd)s Srargosio-3

8688 1 9 838oc - PAPER-II
od» 1 2 Ko. 45 Q. 3"6:” -A&B 7108 Srednen 1 40
avzic;: -A 108 Srednen : 28
Srdlen 1 1. o) BEHOD FrE odmrEs® $B8958%.
2. @*Bticg-A 50 a%id (©HHod 51)%26583&26 LIPS HBS0HOLD (FPADXS.
3. 3°6€3—A S0 Lot Dgrerren o).
4., Jn&B Bo Jgerreds® BRED @%&@@&oéﬁé SR WAL IRV IR SR

Qerridndoty Internal Choice zéﬁ@éo_ﬁ) L.
5. 08 0¥ @wE) SSrerardd SRS X8 BdHBD.

RES - 1
HHAE 1 & Dgrifo Soth Teenrd (DEen asasd. (4 Eﬁﬁé}gp})

2] DD 1 S8 Beronosadd.

1. ©5 He08® /BAC = 40°, ‘X’ Qenddd EofP$0d. ‘o B Solo.

2. Bod TBI0OD B0 AHEI05HE Boke 33"&63&@ D& Ko QogrE Jod?

3. (808 aX@Es KDY Dgresd DEEI08 Eﬁﬁd)&e)mém P: 9 S BB B A50LW.

é)“é)&&) 5 6 S8 7 S8%
8)(.3336(3@ éogp§ 5 11 19

4. 28 JErodE SEtp=os® DB Swmimen SBIM (3x-2)° HBA (x+48)° oD
ISP vitetate! iﬁe‘éad)a)woésﬁ) o) Seadnodn K508,
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10.

2ES - 1

BT 1 & Jgrro Jotd 0id (DEHer a3EID. @) D JIrEPERPISL.
32 DD 2 SoBnen BerPanoSBI8. (10 Sedyen)

AABC & /B = 90°, AD = DC, AB = BC &85 AB = 12cm.
©ond AABD Fzeersd) SfPlod.

Q.’Jé& Herost A_B,C_D e ‘p’ Eﬁtg ESEvIaICelaty BoB0eran. ©ond
AAPC =~ ABPD &0 080308,

Eééé@)éé 852203708 ©0o8EgEw BPITeS SHRPA0 r@ed) (@R 0088 Hrred
5EDES08.

‘Qogrdss’ Ko DSBS EDERPEIE Sodoye TeaHod.
Bod aEgets e‘é@%}néé?ﬁ DoHABETIOR  (Faol.

0) A Boths) X-ofo Hod 5 el ErSost, Y-0080008 3 0hredéy Er8o&t Gotor
0SB FEoSt Ko Do Q..

ii) B 80t X-Fo ool 3 credéy Er8ost, Y-og0 od 5 0.8, S80St sotae
Bo&d Kot Ko Howd Q..

SECTION - III (16 KoeByen)

B8 1 1. & Jgersos® 4 DEeo BoD. (58 BEDH o888 oSS (Internal choice)
Both. A8 a8 BHH PG IETEEENHIEHS0.
2. 158 DB 4 SrBonen BeonOSETIG.

(8BeosSy, a8 B[S Hiben (8ocs é@éé‘g BEID. &8 $ERod8 Dol o“atgé’é’ (Deviation)
& ©oBKiRn ELPHod.

DG Hoden 5 10 15 | 20 | 25
(Ro38e éoap?g)

888 Soayg 56 23 39 13 8

136



11.

12.

13.

&)

- 11—
AABC &° 75 S8 4C © D Dooden D bdcs» E. 4 =748, 4E=_4C,
DE =2 20.8> wowd BC dendd EHRPE08.
JSroess z‘ﬁééaéae)&oég Both Bpen Teord VRS JTersen Ko (Bgheren DBYSHD
QPR 0B50&.
(Eo)

28 %00t 5 DY), 3 Do, 2 DD HBA® 2 HHH oHen Bod. Hod Hod a8
2089 oﬁ:vtﬁaz‘l)‘)éom &cdHre

a) o) oo woden N8 He HEgHTPTEen BXpK0NSr? DSBoSos.

b) o) IIPTre Dogrdgde Iwgo NoB? A HXAoTEE?

(&) dwos® PQ = RS B LORS = 48°
®ond ZOPQ Hdakm ZROS o P50,

&)

(%) Seos® AB = BC $&csw AC = CD.
wand ZBAD %80 ZADB © 80 SfPh0s.

(™5 =AS0S® (Bod JBrHE DothHe HBoSos. G HothHen &8 Ty Bos’ Benos.

A) (0, 4) B) (5,0) C) (-3, -2) D) (2, -13) E) (2,3) F) (0, -8)

G) (-3,0) H) (-3, 4) ) (0, 6) I (-6, 0) K) (2, 8) L) (-3, 2)
(&)

AB = 6.5 20.80, BC = 7.2 20.8 %8¢ LA = 60° Sodos® @gbezo AABC & 80D,
8 DB AGoFod.
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JrB8 (HFNHER0
Solirerd)s Srargosio-3
S8HS 1 9 #8380 - PAPER-II

%63 -B 216&3 Srdqen 1 10

SreSden @ 1. Q-B @@&é@éoé‘s@ BB a8 aES (°8¢0H0H w0l wgoros?
'zbcg oo A, B, C, D o 6ol385.
2. B8 DD 1/2 et SeronoBEII.
o) DB JSrErIDINSD.
?ééﬁée», &@3«3‘5@ Soeergo8do BhaEd.

1. (Bod o (B Oy D ot Dok [ ]
A) 4, 0) B) (0, 0) C) (-3, 0) D) (-3, -2)

2. a8 Behzod® eriEmo, 0 wiSedneny 5:4 i, wododivg Seren 1:4
6085 & (Bheso [ ]

A) BB B) d80erss0 C) wo8%s (@gHazo D) Qsoersso

3. x>0,y<0omd (-X, y) 6ot arso [ ]
A) Q B) Q, O Q D) Q,

4. 2,5 3,7, x0 & 4 @ond X Jeod d08? [ ]
A) 2 B) 3 C) 4 D) 5

5. (8od &’ x-QbrHEo, y-08rHE0 8T Botd JEPSTT SHO [ ]

A) (4, 2) B) (2, 4) O 1, 1) D), -1

6. ey w8 Jaren HHIMT™ 6,7,8,9,10,6,7,10,7,6,7,9,7, 6 o0 a50¥s0

A) 6 B) 7 09 D) 10 [ ]
7. AABC & g > BC > AC @owd @8 D800 [ ]
A) ZA B) /B C) £C D) ZA, ZC
8. Rozhdwd> 8o J02& Slavia 8528 o Seo R eseo [ ]
A) $d%0o B) 5%‘5&6&60 C) Jdos&Byeo D) &HFo
9. DS HorHen 91-100 81-90 71-80 61-70
86856000 20 14 5 2
: 59850
A) 91-100 B) 81-90 C) 71-80 D) 61-70
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(%), He08% ZA = 50°, OA = OB @ond x°Qensd dod?

A) 50° B) 40° C) 80° D) 100°
(5@_‘;0%0@58 588 ‘éosp?g ‘n’ é?oéoaaeg o0 éatéegﬁééo [ ]
th th th th

n n+1 1 n
A) (54'1) N Jensdd  B) (T) S dwd  C) (”H‘Ej S Jensd D) (5—1] N Aend
©8H008® PO RS Bod a&° 28 S50 [ ]
A) 4D || BE B) CF || 4D
C) BE||CF D) BE 1 CF

In AABC & ZA=170°, BE, CF o0 $&3m /B 580 £C o Gws) Seadiamoisd Seen

O 38 ofoHEHN. wand ZBOC = ... [ ]
A) 80° B) 90° Q) 115° D) 125°
B 10 Froposeo BKNED .. [ ]
A) 5.5 B) 4.5 Q) s D) 6.5
QT ::cgé’aess ©08NEg00  EDPHOD drl@o [ ]
. - 3/x - 3/d, U
- —L x:4 x:A.’.# i
A) x . B) >/ 0) >/ D) >
LoethH SHD BBKE Tog) BIHS e SHde 19.5, 29.5, 39.5 wond D50
A) 10 B) 11 C) 10.5 D) 11.5 [ ]
a8 5008 Nenherdd Ko Sograd [ ]
1
A) 0 B) 5 Q)2 D) 1
53808 Hered® “Wirdihere BHdHr God Seren HEP$0” oF) %08 @°€§§0€§§2{>63
S0 [ ]
A) C)
%) He08° X Dendd [ ]
A) 50° B) 130°
C) 100° D) 80°
A o3 D GwE) Sogrsgd p(A) = x @ond pl(A) = [ ]
A) ~1 B) 1-— 0 = D) 1
) - ) 1-— )~ )1-x
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SOCIAL STUDIES

SI. Academic g8 | Bssay | S.A. | V.SA.| Objective | Marks

No Standards Type

1 | DRABRIPTS 40% - 3 2 16 16

2 |2y FogoR) SO 10% 1 4
@goé%aé@ grgo Ko

3 | dEres Fdeageo 15% 1 1 6

4 |38 oo 10% 1 4
(8o S / (©])osso

5 | Degdesgen 15% 1 1 2 6

6 | (©F0%, KDEO&éééogo 10% 1 1 2 4

Sgo 100% 4 5 4 20 40
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SUMMATIVE ASSESSMENT - 3

MODEL QUESTION PAPER

SOCIAL STUDIES

PART-A

Class : IX

Time: 2.45 Hrs.
Marks: 30

SreSS: PEpBo SHHETHTI8 15 Advaren, aaraen TPeHmd8 2.30 Koten Seranoseniod
SECTION -1 (Marks - 16)

1) (Bod FPenih (BHodH Jdrearen Toohod.

2) (38 BEHSH oot Jrvnen

1. Bod Do HEB8.

4x4=165:°6:27w
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